V-TAC

Meaningful Innovation.

WEEE Number: 80133970

INSTRUCTION MANUAL
SOLAR LED WALL LIGHT WITH SENSOR

o
<
L
>
WARRANTY"

IP65

RATING

INTRODUCTION

Thank you for selecting and buying V-TAC product. V-TAC will serve you the best. Please read these instruc-
tions carefully before starting the installation and keep this manual handy for future reference. If you have any
another query, please contact our dealer or local vendor from whom you have purchased the product. They
are trained and ready to serve you at the best. The warranty is valid for 3 years from the date of purchase. The
warranty does not apply to damage caused by incorrect installation or abnormal wear and tear. The company
gives no warranty against damage to any surface due to incorrect removal and installation of the product. The
products are suitable for 10-12 Hours Daily operation. Usage of product for 24 Hours a day would void the
warranty. This product is warranted for manufacturing defects only.

This marking indicates that this product
should not be disposed of with other Caution, risk of electric shock.
[ ]

household wastes.

MULTI-LANGUAGE MANUAL QR CODE
Please scan the QR code to access the
manual in multiple languages.

In case of any query/issue with the product, please reach out to us at: support@v-tac.eu
For More products range, inquiry please contact our distributor or nearest dealers.
V-TAC EUROPE LTD. Bulgaria, Plovdiv 4000, bul.L.Karavelow 9B



TECHNICAL DATA

MODEL VT-425 / VT-426 / NT-413
SKU 23004 / 23005 / 23006
LUMENS 2200 LM

POWER 15W

LEDs SMD 2835x84 pcs
MONO SOLAR PANEL DC 4.5V, 5.8W

BATTARY PACK

32700, 3.2V, 6000mAh, 19.2Wh

RADAR SENSOR 120° / 8 Meter

BEAM ANGLE 360°

WORK MODES SENSOR MODE; Keep Lighting Mode
CHARNGING TIME 7 Hours strong sunshine to fully charge
LIGHTING TIME Upto 80 Hours

INSTALLATION HEIGHT 2-3 Mefters

LIGHTING AREA 80m?

HOUSING MATERIAL

ABS+PC, Anti-UV, Anti-Oxidant, Fireproof

LAMP DIMENSION

Wall Light 257x288.5x206.5mm
Pillar Light 257x257x217mm
Garden Light 257x257x879.7mm

PACKING Wall Light: 1x Solar Lamp, 1x Base, 4 x Expansion Plugs & Screws,
1 x Anti-theft Screw, 1x User Manual
Pillar Light: 1x Solar Lamp, 1x Base, 3 x Expansion Plugs & Screws,
1x User Manual
Garden Light: 1x Solar Lamp, 1x Pole, 1x Base, 7 x Screws,
1x User Manual

WARRANTY 3 Years

1. This is a solar powered lamp, please install the solar panel in a location where can get

enough sunshine.

wn

Please note the lighting time depends on sunshine duration & working mode.
The On/Off button on the lamp is power-off switch, helpful to save power consumption. Also

the lamp can still get solar charge at day fime when the lamp is turned off.
4. Built-in intelligent IC is with over-charge and over-discharge protection, safe & durable.

5. The lamp is equipped with an internal battery pack, which is replaceable. If any need, please

contact seller for correct new battery pack.
6. Non-professionals please do not disassemble the lamp.
7. Please do not dispose the battery with household garbage to avoid explosion.

RoHS ( € & & 2R

PAP




TWO OPTIONAL WORKING MODES
ON/OFF/Switch Woke Mode

1. Press the button Ist time, lamp flashes once and turns on to Sensor Mode.
2. Press the button 2nd time, lamp flashes twice and turns to Keep Lighting Mode.
3. Press the button 3rd time, lamp furns off.

Switch Lighting CCT

Please press this button to swith the color temperature.

SENSOR MODE

Lamp automatically lights up at night, automatically turns to 60% brightness when motion is detected in
the range <8mtrs, then dim to lower brightness after 20 seconds of no motion.

KEEP LIGHTING MODE

Lamp automatically light up at night and keep full brightness, after 5 hours it turns to Sensor Mode.

After 5 Hours \
—_—

WIDE APPLICATION

Flexibly used for Yard, Garage, Warehouse, Garden, Holiday Resort, Farm, Industrial Park, efc.




INSTALLATION

WALL LIGHT INSTALLATION

1* Lamp

. J

~N

.

P O

4*Expansion Plug
& Screw & 1% Anti-theft
screw

J

.

e
1|2
L2

1* User Manual

1. Drill 4 holes with a diameter of o &mm and a depth of 45mm, fix the expansion plugs into
the holes, then lock the base on the wall with screws(M4*40mm).
2. Press the bigger button on the lamp to turn on the lamp and select desired work mode;
press the smaller button to select desired lighting color.
3. Slide the lamp onto the base.
4. Tighten the anti-theft screw (M3*25mm) to fix the lamp to the base.

®

PILLAR LIGHT INSTALLATION

Switch Lighting CCT

@

ON/OFF/Switch Woke Mode

_@@_

T*Base

1

3*Expansion Plug &
Screw

e
1|2
L2

1* User Manual




BEFORE INSTALLATION
PLEASE NOTE THE RADAR(ZF) SHOULD TOWARD THE DESIRED AREA TO BE SENSED.

1. Drill 3 holes with a diameter of o 8mm and a depth of 65mm, fix the expansion plugs into
the holes, then lock the base with screws (M5*55mm).

2. Press the bigger button on the lamp to turn on the lamp and select desired work mode;
press the smaller button to select desired lighting color.

3. Put the lamp into the clamping slot and rotate it clockwise to fix well.

#™\  ON/OFF/Switch Woke Mode

Switch Lighting CCT

® @

GARDEN LIGHT INSTALLATION

(W
M\

1 1 1

| -3 L]
1* Lamp 1*Pole & 1"Base 3*Screw 1* User Manual
. J . J . /A

BEFORE INSTALLATION
PLEASE NOTE THE RADAR(ZF) SHOULD TOWARD THE DESIRED AREA TO BE SENSED.

1. Drill 3 holes with a diameter of o 8mm and a depth of 65mm, fix the expansion bolts into
the holes, then lock the base on the ground with flat washers, spring washers and nuts.
2. Press the bigger button on the lamp to turn on the lamp and select desired work mode;
press the smaller button to select desired lighting color.
3. Insert the lamp into the pole with right direction, and fix it with screw (M4*8mm).
4. Insert the pole (with the lamp installed) info the base, and then fix it with 3 screws (M5*10mm).

2o
4 7
+

PR}

T .

ON/OFF/Switch Woke Mode

Switch Lighting CCT




V-TAC

Meaningful Innovation.

WEEE Number: 80133970

PBKOBOACTBO 3A YNOTPEBA

CJITbHYEBA LED CBETJIMHA 3A CTEHA CbC CEH30P

YEAR

WARRANTY"

IP65

RATING

B bBEAEHME

Bnharogapum Bu, Yye nsbpaxrte 1 3akynuxte npoayKT Ha V-TAC. V-TAC we BM CNYXKKU MO Hali-go6pusa HaumH. Mons,
npoyetete BHMMATENHO Te3U WMHCTPYKUWMU, Npean Oa 3anovyHeTe MOHTaXa, M naseTe TOBa PbKOBOACTBO 3a
6baewm cnpaBKkn. AKO MMaTe HAKAKBM APYrM BbMPOCKU, MOJS, CBbPKETE Ce C HalMA AUAbP WU C MECTHUA
npoaasay, OT KOroTo CTe 3aKyNnuan NpoAyKTa. Te ca obyvyeHU 1 ca roToBM Aa BU NOCAYXKAT MO HAM-A06pUA HAUMH.
MapaHuMATa e BanAMAHaA 3a CPOK OT 3 roAuHM OT AaTaTa Ha 3aKynyBaHe. [apaHuUMATa He BaXu 3a nospeau,
NPUYMHEHM OT HENpaBUIEH MOHTaX MAM HeobuyaliHo M3HocBaHe. PpmaTta He AaBa rapaHuMA 3a NoBpean Ha
NOBBPXHOCTWU, Ab/KAWM Ce Ha HenpaBuUAHO AeMOHTUPaHe W WMHCTaAupaHe Ha npoaykTa. lMpoayktute ca
noaxoaAawm 3a 10-12-yacoBa exkegHeBHa paboTa. M3non3BaHeTo Ha NPoOAYKTa B Npoab/KeHue Ha 24 yaca Ha
[EeH BOAM A0 OTnajaHe Ha rapaHumaATa. To3u NpoAyKT MMa rapaHLmMsa camo 3a NPOM3BOACTBEHU AedeKTu.

Tasn MapKMPOBKa NOKa3Bea, 4e To3un

NPOAYKT He TpabBa Aa ce n3xBbpaA BHMMaHUWe, pUCK OT TOKOB yAap.
3aefHO C Apyrv 6UTOBM OTNaABLUM.

B cnyuait Ha 3anuTBaHe/nMpobaem ¢ NpoayKTa, MO/A, CBbpXKeTe ce ¢ Hac Ha aapec: support@v-tac.eu 3a
noseye NPOAYKTU, 3aNUTBaHE, MONA, CBbPXKETE Ce C HalMA AUCTPUBYTOP AN Hal-6AM3KUTE AUABPU.
V-TAC EUROPE LTD. Bbbarapwusa, Mnosans 4000, 6yn./1.Kapasenos 96


mailto:support@v-tac.eu

TEXHUYECKU AAHHMU

MOJEN VT-425 / VT-426 / VT-413
SKU 23004 / 23005 / 23006
LUMENS 2200 LM

POWER 15W

CseTogmoam SMD 2835x84 6p.

MOHOCO/IAPEH NMAHEN

DC4,5V, 58W

BATAPEH MAKET

32700, 3.2V, 6000mAh, 19.2Wh

CEH30P 3A PALAP

120° / 8 meTpa

bIb/1 HA TbYA

360°

PEXMMW HA PABOTA

PEXMM HA CEH3OP; NMogabprkaHe Ha peXXnm Ha ocBeTieHne

BPEME 3A 3APEXOAHE 7 4aca CUIHO CNBbHYEBO rpeeHe 3a Mb/IHO 3apeXKaaHe
BPEME 3A OCBETABAHE [o 80 yaca

MOHTAXHA BUCOYNHA 2-3 meTpa

OBJIACT HA OCBET/IEHUETO 80m?*

MATEPWUAJT HA KOPMYCA

ABS+PC, Anti-UV, Anti-Oxidant, Fireproof

PASMEPU HA TAMMNATA

CreHHa cBeTMHa 257x288.5x206.5mm
CtbnbHa cBeTIMHa 257x257x217mm
MpaanHcka ceeTanHa 257x257x879.7mm

OIMNAKOBAHE

CreHHa cBeTMHa: 1 x cabHYeBa 1amna, 1 x OCHOBA, 4 X pasWMpUTESHA
Tanu v BUHTOBE, 1 X BUHT NPOTUB Kparkba, 1 X pbKOBOACTBO 32
notpeburensn

CseT/ivHa Ha cTbnba: 1 x chbHYeBa lamna, 1 X 0OcHOBa, 3 X paswWmnpuUTenHU
Tanu 1 BUHTOBE, 1 X pPbKOBOACTBO 3a notpebutens

IpasmHCKa cBeTinHa: 1 x caibHYeBa namna, 1 x noatoc, 1 x 6asa, 7 x

BMHTOBE, 1 X pbKOBOACTBO 3a NoTpebutens

TAPAHLUMA

3 roguHm

NPEAYNPEXAEHME

1. ToBa e namna cbC CIbHYEBO 3axpaHBaHe, M0OAA, MHCTaﬂMpaﬁTe ChbHYEBMA NaHEN Ha MACTO,
KbAEeTO MMa A0CTaTb4HO CNbHYEBA CBET/INHA.

2. Mona, O6'prETe BHMMaHUe, 4He BPeEMETO 3a CBeTeHe 3aBUCU OT NPOABb/IKNTE/NNHOCTTA HAa CTbHYEBOTO rpeeHe U

pexxunma Ha paborTa.

3. ByToHbT 32 BKﬂIO‘-IBaHe/VISKl'IPO‘-IBaHe Ha NamnaTa e npeBK/ito4BaTeNl 3a U3K/IKl04YBaHe Ha 3aXpaHBaAHETO,

KOeTO Cnomara 3a necteHe Ha esieKTpoeHeprma. OcBeH TOBa 1IamnaTa MoXxe Aa ce 3apexda oT
CNbHYEBATA eHeprmnAa npe3 AeHA, Korato € U3K/s1lo4eHa.

4, BrpageHaTta MHTeNUreHTHa MHTErpasiHa cxema e CbC 3alMTa OT Npe3aperkaaHe n npesaperaaHe, 6esonacHa u

n3gpbvXanea.

5. JlamnaTa e obopyZaBaHa c BbTpelwHa baTepus, KOATO MOXKe Aa ce cmeHs. Mpu HyXKaa, MoAs, CBbpKeTe

ce C NpojgaBaya 3a HoB HaTepueH naker.
6. HenpodecnmoHannctTuTe ga He pasrnobasart samnara.
7. Mons, He n3xBbpaaliTe baTepusaTa c GBUTOBM OTNALbLM, 33 A3 U3BErHeTe eKcnio3us.

RoHS (

UK

0y N
e P cn




ABA AONBJIHUTEJIHU PEXXUMA HA PABOTA

Pexxum Ha cb6yxxpaHe ON/OFF/Switch

1. HaTtucHete 6yTOHa 3a MbPBU NDBT, 1IaMNnaTa MUra BeAHbBXK U Ce BK/IIOYBaA B PEXXUM Sensor
Mode.

2. HatucHete 6yTOHa BTOPU NbT, IaMmnaTa MUra Asa NbTU U NPpeMUHaBa B PEXNUM Ha
nogabpXXaHe Ha OCBeT/IeHNeTO.

3 HaTtucHete 6yTOHa 3a TPETU NbT, aMnaTa ce U3KHYBa.

MpeBkniousaHe Ha ocBeTneHuero CCT

HaTucHete To31 ByTOH, 3a Aia CMeHUTE LBeToBaTa Temnepartypa.

PEXXUM HA CEH30PA

JlamnaTa ce BK/IlOYBA aBTOMATUYHO Mpe3 HOLWTa, aBTOMATMUYHO ce BKAoUYBa Ha 60% APKOCT Npu 3acMyaHe Ha
ABUXEHMe B AMana3oH <8 m, csies KoeTo Hamanagsa ApKocTTa cu cnen 20 ceKyHaM 6e3 ABurKeHue.

3ANA3BAHE HA PEXXMMA HA OCBETJIEHUE

JlamnaTa ce BK/Il0YBA aBTOMATMYHO Mpe3 HoLWTa MU NoAAbPKA Nb/IHA APKOCT, a c/ies 5 yaca npemrHaBa B PeXXUM Ha
CeHsop.

After 5 Hours

————

LLMPOKO NMPUNOXXEHME

Moxe aa ce U3MNo/3Ba 3a 4BOPa, raparka, CKiaga, rpaanHaTa, BakaHUMOHHOTO cenunue, bepmaTa, MHAYCTPUAIHMA NapK
n ap.




UHCTAJIUPAHE

MOHTAX HA CTEHHO OCBET/IEHUE

'd N N N
g el ~
| . . /
B f 1 ~
644l -
—_—
4* PaswmpuTeneH Lencen
& BuHT & 1* BUHT npotus
1* namna 1* 6aza 6 P 1* PbKoBOACTBO 3a
Kpa*oba
\. O AR P J norpeburens _J
1. MNpobuiiTe 4 oTBOpa C AMameTbp 0 6 MM 1 AbnboUnHa 45 MM, 3aKpeneTe paswmpuTenHuTe arobenm
B OTBOPUTE, C/lef, KOeTO 3aKpeneTe OCHOBaTa KbM CTeHaTa ¢ BUHTOBE (M4*40 mm).
2. HaTucHeTe no-rofiemus BYTOH Ha IamMnaTa, 3a Aa BKAOUMUTE IamnaTta 1 ga nsbepere kenaHua
peXnm Ha paboTa; HaTUCHeTe NO-MankuA BYTOH, 3a Aa n3bepeTe KenaHuA UBAT Ha OCBET/IEHUNETO.
3. Mnb3HeTe namnaTta BbPXy OCHOBATAa.
4. 3arterHete BMHTa NPOTMB Kpaxkba (M3*25 mm), 3a Aa 3aKpenuTe namnaTa KbM OCHOBaTa.
/
Switch Lighting CCT
ON/OFF/Switch Woke Mode

i

®

MHCTAJIUPAHE HA CBETJIMUHUTE HA KOJIOHATA
e N N [ N

| ; a 2

| 1|2
—_—
3 * PaswmpuTeneH

1* namna 1*6asa LWencen v BUHT 1* PbKOBOACTBO 3a

- J AR J norpeburens




NPEAM MOHTAXA
MOAA, ObbPHETE BHUMAHMWE, YE PA,EI,APBT(G?\ ) TPABBA [IA E HACOYEH KbM KEAHATA 30HA 3A 3ACUYAHE.

1. Mpobwuiite 3 oTBOpa Cc AnameTbp 0 8 mm U AbnboumnHa 65 mm, 3aKpeneTe paswMpuUTenHuTe aobenn
B OTBOpPUTE, CNej, KOeTo 3acTonopeTe ocHoBaTta ¢ BUHToBe (M5*55 mm).
2. HatucHete no-rosiemus 6yTOH Ha slamnarTa, 3a 4a BKAUMUTE lamnaTta 1 ga nsbepere kenaHus
peXknum Ha paboTa; HaTUCHETE No-ManKkua ByToH, 3a Aa nsbepete KenaHUs UBAT HA OCBET/IEHMETO.
3. TlocraseTte namnara B rHE340TO 3a 3aXBallaHe M A 3aBbPTETE MO NOCOKA Ha YaCOBHMKOBATa CTPEJIKa, 3a Aa ce GUKcmpa

nobpe.

Switch Lighting CCT

® @

MOHTA)K HA FPAIIMHCKO OCBETNEHME

N N I
. s | =
0 lZ
—_—
1* namna *nontoc n 1 * ocHoBa 3% BUHT 1* PbKOBOACTBO 33
\_ L J J \—____nompeburens /J

MPEAM MOHTAXA
MOAA, OBbPHETE BHUMAHMWE, YE PA,D,APBT(”‘? ) TPABBA JA E HACOYEH KbM JKEJJAHATA 30HA 3A 3ACUYAHE.

1. Mpobwuiite 3 oTBOpPa C AnameTbp 0 8 mm 1 AbiboYnHa 65 mm, 3aKpeneTe pasWMpUTENHUTE
6onTtoBe B OTBOPUTE, cnen KoeTo GUKCUMpaKrTe OCHOBATa KbM 3€MATA C MNI0CKM WaNbu, NPYXKUHHU
Warbu u ranku.

2. HaTucHeTe no-ronemus 6yTOH Ha NamnaTa, 3a 4a BKAOYMTE NamnaTta U ga usbepete KenaHua
pexXum Ha paboTa; HaTUCHeTe No-maskua ByTOH, 3a Aa nsbepeTe KenaHuA UBAT Ha OCBET/IEHNETO.

3. MocrtaBeTe namnara B cTb/16a B NpaBuUIHATa NOCOKa U A GUKCUpaiTe ¢ BUHT (M4*8mm).

4. MoctaseTe cTbnba (C MOHTMpPaHa NaMmna) B OCHOBaTa M ro 3akpeneTe ¢ 3 BuHTa (M5*%10 mm).

" ON/OFF/Switch Woke Mode o

\ Switch Lighting CCT




V-TAC

Meaningful Innovation.

WEEE Number: 80133970

PRIRUCNIK ZA UPORABU
SOLARNA LED ZIDNA SVJETILJKA SA SENZOROM

O5H

WARRANTY"

IP65

RATING

YEAR

UuvoD

Hvala sto ste odabrali i kupili V-TAC proizvod. V-TAC ¢e vam posluziti najbolje. Pazljivo procitajte ove
upute prije pocetka instalacije i drzite ovaj priru¢nik pri ruci za buduce potrebe. Ako imate bilo kakvih
dodatnih pitanja, obratite se nasem trgovcu ili lokalnom prodavacu od kojeg ste kupili proizvod. Oni
su obuceni i spremni posluziti vas na najbolji nac¢in. Jamstvo vrijedi 3 godine od datuma kupnje.
Jamstvo se ne odnosi na odtec¢enja uzrokovana neispravnom ugradnjom ili nenormalnim habanjem.
Tvrtka ne daje jamstvo protiv ostecenja bilo koje povrsine uslijed nepravilnog uklanjanja i postavljanja
proizvoda. Proizvodi su prikladni za 10-12 sati dnevnog rada. Koristenje proizvoda 24 sata dnevno
ponistilo bi jamstvo. Ovaj proizvod ima jamstvo samo za greske nastale u proizvodniji.

Ova oznaka oznacava da se ovaj
proizvod ne smije odlagati s ostalim Oprez, opasnost od strujnog udara.
Emmm <UCnim otpadom.

U slu¢aju bilo kakvog upita/problema s proizvodom, obratite nam se na: support@v-
tac.eu Za vise proizvoda, upite, obratite se nasem distributeru ili najblizim trgovcima.
V-TAC EUROPE LTD. Bugarska, Plovdiv 4000, bul.L.Karavelow 9B



TEHNICKI PODACI

MODEL VT-425 / VT-426 / NT-413

SKU 23004 / 23005 / 23006

LUMENI 2200 LM

VLAST 15W

LEDs SMD 2835x84 pcs

MONO SOLARNI PANEL DC 4.5V, 5.8W

BATERIJA 32700, 3.2V, 6000mAh, 19.2Wh
RADARSKI SENZOR 120° / 8 metara

KUT ZRAKA 360°

NACINI RADA NACIN SENZORA; Zadri nacin osvjetljenja

VRIJEME PUNJENJA

7 sati jakog sunca za potpuno punjenje

VRIJEME PALJENJA Do 80 sati
VISINA UGRADNJE 2-3 metra
PODRUCJE RASVJETE 80m?

MATERIJAL KUCISTA

ABS+PC, Anti-UV, Anti-oksidans, Otporan na vatru

DIMENZIJA LAMPE

Zidna svjetiljka 257x288.5x206.5mm Stupna svjetiljka
257x257x217mm Vrtna svjetilika 257x257x879.7mm

PAKIRANJE

Zidna svjetilika: 1x solarna svijetiljka, 1x postolje, 4 x utikaci i vijci za
prosirenje, 1x vijak protiv krade, 1x korisnicki priru¢nik

Stupno svjetlo: 1x solarna svjetiljka, 1x postolje, 3 x ekspanzijski
utikaci i vijci, 1x korisnicki priru¢nik

Vrtno svjetlo: 1x solarna svjetiljka, 1x stup, 1x baza, 7 x vijaka,

1 x korisnicki priru¢nik

JAMSTVO

3 godine

UPOZORENJE

1. Ovo je lampa na solarni pogon, postavite solarnu plo¢u na mjesto gdje mozete dobiti dovoljno

sunca.

2. Imajte na umu da vrijeme osvjetljenja ovisi o trajanju sunceve svjetlosti i nac¢inu rada.
3. Gumb za ukljucivanje/isklju¢ivanje na svjetiljci je prekida¢ za isklju¢ivanje, pomaze u ustedi

potrosnje energije. Takoder, lampa jo$ uvijek moze dobivati solarno punjenje tijekom dana kada

je lampa isklju¢ena.

4. Ugradeni inteligentni IC ima zastitu od prekomjernog punjenja i praznjenja, siguran je i

izdrzljiv.

5. Svjetiljka je opremljena unutarnjom baterijom, koja je zamjenjiva. Ako je potrebno, obratite se

prodavacu za ispravan novi paket baterija.
6. Molimo neprofesionalce da ne rastavljaju lampu.
7. Nemojte odlagati bateriju s kuénim otpadom kako biste izbjegli eksploziju.

RoHS ( € & & 2R

PAP




DVA OPCIONALNA NACINA RADA

UKLJUCIVANJE/ISKLJUCIVANJE/promjena naéina rada za budenje

1. Pritisnite tipku prvi put, lampica ¢e zatreperiti jednom i ukljucit ¢e se u nacin rada senzora.
2. Pritisnite tipku drugi put, lampica ¢e zatreperiti dvaput i prebacit ¢e se u nacin rada Zadrzi
osvjetlienje.

3. Pritisnite tipku treci put, lampica se gasi.

Prekidaé¢ Rasvjeta CCT

Pritisnite ovaj gumb za promjenu temperature boje.

NACIN SENZORA

Lampa se automatski pali nocu, automatski se okre¢e na 60% svjetline kada se detektira kretanje u
rasponu <8mtrs, zatim se zatamni na nizu svjetlinu nakon 20 sekundi bez kretanja.

ZADRZI NACIN SVJETLJENJA

Lampa se automatski pali noc¢u i odrzava punu svjetlinu, nakon 5 sati prelazi u Sensor Mode.

After 5 Hours \
—_—

SIROKA PRIMJENA

Fleksibilno se koristi za dvoriste, garazu, skladiste, vrt, odmaraliste, farmu, industrijski park itd.




MONTAZA
UGRADNJA ZIDNE RASVJETLE

ik
~
EEe ° ~

T
—_—

4*utika¢ za prosirenje

- "
1% Svjetiljka 1*Osnova Proﬁl::f\l(aﬁf\i]vijak 1% korisni¢ki priruénik

& J/ \. J \. /  \u J/

1. Izbusite 4 rupe promjera o 6 mm i dubine 45 mm, ucvrstite ekspanzijske ¢epove u rupe,
zatim pri¢vrstite bazu na zid vijcima (M4*40 mm).

2. Pritisnite vec¢u tipku na lampi za uklju¢ivanje lampe i odabir Zeljenog nacina rada; pritisnite
manji gumb za odabir Zeljene boje osvjetljenja.

3. Gurnite svjetiljku na bazu.

4. Zategnite vijak protiv krade (M3*25 mm) kako biste pri¢vrstili svjetiliku na bazu.

Switch Lighting CCT

® @

g -

MONTAZA STUPNE SVJETLOSTI

ON/OFF/Switch Woke Mode

®

N\ \
Lid 1=
——
3*utikac i vijak za
1* Svjetiljka 1*Osnova prosirenje 1% korisnicki priru¢nik




PRIJE UGRADNJE ) ) )
NAPOMENA DA RADAR(%) TREBA USMJERITI PREMA ZELJENOM PODRUCJU KOJE SE OCITA.

1. Izbusite 3 rupe promjera o 8 mm i dubine 65 mm, ucvrstite ekspanzijske ¢epove u rupe,
zatim pri¢vrstite bazu vijcima (M5*55 mm).

2. Pritisnite vec¢u tipku na lampi za uklju¢ivanje lampe i odabir Zeljenog nacina rada; pritisnite
manji gumb za odabir Zeljene boje osvjetljenja.

3. Stavite svjetiliku u utor za stezanje i okrenite je u smjeru kazaljke na satu kako biste je

dobro ugvrstili.

INSTALACIJA VRTNE SVJETLE

4 N\ 3\
TR % _
1 1 1 hd ;
- — L
—_—
1* Svjetiljka T*pol i 1*baza 3*Vijak 1% korisni¢ki priru¢nik
. J/ . J \ J . J/

PRIJE UGRADNJE ) ) )
NAPOMENA DA RADAR(F) TREBA USMJERITI PREMA ZELJENOM PODRUCJU KOJE SE OCITA.

1. Izbusite 3 rupe promjera o 8 mm i dubine 65 mm, pri¢vrstite ekspanzijske vijke u rupe, zatim
pri¢vrstite bazu na tlo ravnim podloscima, opruznim podlo$cima i maticama.

2. Pritisnite vec¢u tipku na lampi za uklju¢ivanje lampe i odabir Zeljenog nacina rada; pritisnite
manji gumb za odabir Zeljene boje osvjetljenja.

3. Umetnite svijetiljku u stup u pravom smijeru i pri¢vrstite je vijkom (M4*8 mm).

4. Umetnite stup (s instaliranom svjetilikom) u postolje, a zatim ga pri¢vrstite s 3 vijka (M5*10 mm).

?,‘,T

4 7
-

A

ON/OFF/Switch Woke Mode

Switch Lighting CCT




V-TAC

Meaningful Innovation.

WEEE Number: 80133970

NAVOD K POUZITI

SOLARNI LED NASTENNE SVETLO SE SENZOREM

YEAR

WARRANTY"

IP65

ATING

uvoD

Dékujeme, Ze jste si vybrali a zakoupili produkt V-TAC. V-TAC vdm bude slouZit co nejlépe. Pfed zahajenim
instalace si prosim peclivé prectéte tyto pokyny a uschovejte si tento navod pro budouci pouZiti. V pripadé
dalich dotazll se obratte na naseho prodejce nebo mistniho prodejce, od kterého jste vyrobek zakoupili. Jsou
vysSkoleni a pfipraveni vdm co nejlépe poslouZit. Zaruka je platnd po dobu 3 let od data zakoupeni. Zaruka se
nevztahuje na poskozeni zplsobené nespravnou instalaci nebo abnormdlnim opotfebenim. Spolecnost
neposkytuje zaruku na poskozeni jakéhokoli povrchu v dasledku nesprdvné demontdZe a instalace vyrobku.
Vyrobky jsou vhodné pro 10-12 hodin denniho provozu. PouZzivani vyrobku po dobu 24 Hodin denné by
znamenalo ztratu zaruky. Na tento vyrobek se vztahuje zaruka pouze na vyrobni vady.

Pozor, nebezpedi Urazu elektrickym
proudem.

by nemél byt likvidovan spolecné s

Toto oznaceni znamena, Ze tento vyrobek
ostatnimi odpady z domacnosti. 5

V pripadé jakychkoli dotazd/potizi s produktem se na nas obratte na adrese: support@v-tac.eu. Pro
vice informaci o sortimentu se prosim obratte na naseho distributora nebo nejblizsi prodejce.
V-TAC EUROPE LTD. Bulharsko, Plovdiv 4000, bul.L.Karavelow 9B


mailto:support@v-tac.eu
mailto:support@v-tac.eu

TECHNICKE UDAJE

MODEL VT-425 / VT-426 / VT-413
SKU 23004 / 23005 / 23006
LUMENS 2200 LM

POWER 15W

LED diody SMD 2835x84 ks

MONO SOLARNI PANEL

DC4,5V, 58W

BATTARY PACK

32700, 3,2 V, 6000 mAh, 19,2 Wh

RADAROVY SENZOR

120° / 8 metrQ

UHEL PAPRSKU

360°

PRACOVNI REZIMY

SENZOROVY REZIM; Rezim udriovani osvétleni

CAS NABIJENI 7 hodin silného sluneéniho svitu pro pIné nabiti
CAS OSVETLENI AZ 80 hodin

INSTALACNI VYSKA 2-3 metry

OBLAST OSVETLENI 80m?*

MATERIAL POUZDRA

ABS+PC, Anti-UV, Anti-Oxidant, Ohnivzdorny

ROZMERY LAMPY

Nasténné svétlo 257x288,5x206,5mm
Sloupové svétlo 257x257x217mm
Zahradni svétlo 257x257x879,7mm

BALENI

Nasténné svétlo: 1 x soldrni lampa, 1 x zdkladna, 4 x rozsifujici konektory a
Srouby, 1 x Sroub proti kradeZi, 1 x uzivatelska pfirucka

Sloupové svétlo: 1 x solarni lampa, 1 x zdkladna, 3 x rozsifujici zastrcky a
Srouby, 1 x uZivatelska pfirucka

Zahradni svétlo: 1 x soldrni lampa, 1 x ty¢, 1 x zakladna, 7 x Srouby, 1 x

navod k pouZziti

ZARUKA

3 roky

VAROVANI

1. Jednd se o lampu se solarnim napajenim, nainstalujte prosim solarni panel na misto, kde je

dostatek slunecniho svitu.

2. Upozoriujeme, Ze doba sviceni zavisi na délce slunec¢niho svitu a pracovnim reZimu.
3. Tladitko zapnuti/vypnuti na lampé je vypina¢, ktery pomaha Setfit spotfebu energie. | kdyz je lampa
vypnutd, mlZe se pres den stdle nabijet solarnim zarenim.

4. Vestavény inteligentni integrovany obvod je vybaven ochranou proti prebijeni a vybijeni, je bezpecny a odolny.

5. Lampa je vybavena interni baterii, kterd je vyménitelna. V pfipadé potfeby se obratte na prodejce a

vyzadejte si novy akumulator.
6. Neodbornici lampu nerozebiraji.

7.  Nevyhazujte baterii do domaciho odpadu, aby nedoslo k vybuchu.

RoHS C€ ¢ UK

par CA




DVA VOLITELNE PRACOVNI REZIMY

Rezim ON/OFF/Switch Woke

1. Stisknéte tlacitko 1., kontrolka jednou blikne a zapne se rezim senzoru.
2. Stisknéte tlacitko podruhé, lampa dvakrat blikne a pfepne se do rezimu udrzovéni osvétleni.
3. Stisknéte tlacitko potfeti, lampa zhasne.

Prepinac osvétleni CCT
Stisknutim tohoto tlacitka prepnete teplotu barev.

REZIM SENZORU

Svitidlo se v noci automaticky rozsviti, pfi detekci pohybu v dosahu <8 m se automaticky prepne na 60% jas a po 20

UDRZOVAT REZIM OSVETLENI

Lampicka se v noci automaticky rozsviti a udrzuje plny jas, po 5 hodinach se prepne do reZzimu senzoru.

After 5 Hours . : n

SIROKE UPLATNENI

Flexibilni pouZiti pro dvur, gardz, sklad, zahradu, rekreacni stfedisko, farmu, prdmyslovy park atd.




INSTALACE

INSTALACE NASTENNYCH SVITIDEL

e N N N M
Ed b g
. | /
. i :
i i % 1|2
4*rozsitujici zastrcka v/
1* Lampa 1*Zékla & sroub i‘ra’1 d;riOUb proti 1* Uzivatelskd prirucka
N J L J L : J L J
1. Vyvrtejte 4 otvory o priméru o 6 mm a hloubce 45 mm, do otvord upevnéte rozpérné hmozdinky a
poté zakladnu zajistéte na sténé pomoci sSroubl (M4*40 mm).
2. Stisknutim vétsiho tlacitka na lampé zapnéte lampu a vyberte poZadovany pracovni rezim;
stisknutim mensiho tlacitka vyberte poZzadovanou barvu osvétleni.
3. Nasadte lampu na podstavec.
Utahnéte Sroub proti kradeZi (M3*25 mm) a pripevnéte svitidlo k zakladné.
)
Switch Lighting CCT
ON/OFF/Switch Woke Mode
INSTALACE SVETELNEHO SLOUPKU
e N ([ N [ N R
L
r N
! 1|2
——
3* Rozsifujici zastréka a
1* Lampa 1*Zakla $roub 1* Uzivatelska pfirucka
- /o A JoC /




PRED INSTALACI
VEZMETE PROSIM NA VEDOMi, ZE RADAR(Z ) BY MEL SMEROVAT DO POZADOVANE OBLASTI, KTERA MA
BYT SNIMANA.

1.  Vyvrtejte 3 otvory o pridméru o 8 mm a hloubce 65 mm, do otvor( upevnéte rozpérné zatky a poté
zakladnu zajistéte Srouby (M5*55 mm).

2. Stisknutim vétsiho tlacitka na lampé zapnéte lampu a vyberte poZzadovany pracovni rezim;
stisknutim mensiho tlacitka vyberte poZzadovanou barvu osvétleni.

3. Vlozte svitidlo do upinaci $térbiny a otoc¢te jim ve sméru hodinovych rucicek, aby se dobfe upevnilo.

Switch Lighting CCT

® @

INSTALACE ZAHRADNIHO OSVETLENI

4 N N I
, , s | =
- iz
g
1* Lampa 1* pdla1*zakladna 3*Sroub 1* Uzivatelska prirucka
- o A AN J

PRED INSTALACI
VEZMETE PROSIM NA VEDOMIi, ZE RADAR(Z ) BY MEL SMEROVAT DO POZADOVANE OBLASTI, KTERA MA
BYT SNiMANA.
1. Vyvrtejte 3 otvory o priméru o 8 mm a hloubce 65 mm, do otvor( upevnéte rozpérné Srouby a
poté zdkladnu zajistéte plochymi podlozkami, pruznymi podloZzkami a maticemi.
2. Stisknutim vétsiho tladitka na lampé zapnéte lampu a vyberte pozadovany pracovni rezim;
stisknutim mensiho tlacitka vyberte poZzadovanou barvu osvétleni.
3. Vlozte lampu do sloupu spravnym smérem a upevnéte ji Sroubem (M4*8 mm).
VloZte tyc (s nainstalovanou lampou) do zakladny a poté ji upevnéte pomoci 3 Sroubl (M5*%10 mm).

" ON/OFF/Switch Woke Mode -

\ Switch Lighting CCT




V-TAC

Meaningful Innovation.

WEEE Number: 80133970

MANUEL D’INSTRUCTIONS

APPLIQUE SOLAIRE A LED AVEC CAPTEUR

YEAR

WARRANTY"

IP65

ATING

INTRODUCTION

Merci d'avoir choisi et acheté un produit V-TAC. V-TAC vous servira au mieux. Veuillez lire attentivement ces
instructions avant de commencer l'installation et conservez ce manuel a portée de main pour pouvoir vous y
référer ultérieurement. Si vous avez d'autres questions, veuillez contacter notre revendeur ou le vendeur local
aupres duquel vous avez acheté le produit. Ils sont formés et préts a vous servir au mieux. La garantie est valable
pendant 3 ans a compter de la date d'achat. La garantie ne s'applique pas aux dommages causés par une
installation incorrecte ou une usure anormale. L'entreprise ne garantit pas les dommages causés a toute surface
par un démontage et une installation incorrects du produit. Les produits conviennent pour un fonctionnement
quotidien de 10 a 12 heures. L'utilisation du produit pendant 24 heures par jour annule la garantie. Ce produit est
garanti pour les défauts de fabrication uniquement.

doit pas étre éliminé avec les autres Attention, risque de choc électrique.

Ce marquage indique que ce produit ne
déchets ménagers. 5

En cas de question/probleme concernant le produit, veuillez nous contacter a l'adresse suivante :
support@v-tac.eu. Pour une gamme de produits plus étendue, veuillez contacter notre
distributeur ou les revendeurs les plus proches.

V-TAC EUROPE LTD. Bulgarie, Plovdiv 4000, bul.L.Karavelow 9B



DONNEES TECHNIQUES

MODELE VT-425 / VT-426 / VT-413
SKU 23004 / 23005 / 23006
LUMENS 2200 LM

PUISSANCE 15W

LED SMD 2835x84 pcs

PANNEAU SOLAIRE MONO

DC 4,5V, 5,8W

PACK BATAILLE

32700, 3.2V, 6000mAh, 19.2Wh

CAPTEUR RADAR

120° / 8 métres

ANGLE DU FAISCEAU

360°

MODES DE TRAVAIL

MODE DETECTEUR ; maintien du mode d'éclairage

TEMPS DE CHARGE

7 heures d'ensoleillement intense pour une charge complete

DUREE DE L'ECLAIRAGE

Jusqu'a 80 heures

HAUTEUR D'INSTALLATION

2-3 metres

ZONE D'ECLAIRAGE

80m?

MATERIAU DU BOITIER

ABS+PC, anti-UV, antioxydant, ignifuge

DIMENSION DE LA LAMPE

Applique 257x288.5x206.5mm Colonne
lumineuse 257x257x217mm Lampe de
jardin 257x257x879.7mm

EMBALLAGE Applique murale : 1 x lampe solaire, 1 x base, 4 x bouchons d'expansion et
vis, 1 x vis antivol, 1 x manuel d'utilisation
Lampe pilier : 1 x lampe solaire, 1 x base, 3 x bouchons d'expansion et vis, 1
x manuel d'utilisation
Lampe de jardin : 1 x Lampe solaire, 1 x Perche, 1 x Base, 7 x Vis, 1 x
Manuel d'utilisation

GARANTIE 3 ans

AVERTISSEMENT

1. Cette lampe fonctionne a I'énergie solaire. Veuillez installer le panneau solaire dans un endroit

ou il y a suffisamment de soleil.

Veuillez noter que la durée d'éclairage dépend de la durée d'ensoleillement et du mode de fonctionnement.
Le bouton Marche/Arrét de la lampe est un interrupteur de mise hors tension, ce qui permet
d'économiser de I'énergie. La lampe peut également continuer a se charger en énergie solaire pendant

Le circuit intégré intelligent intégré est doté d'une protection contre la surcharge et la surdécharge, slre et

La lampe est équipée d'une batterie interne, qui est remplagable. En cas de besoin, veuillez contacter le

2.
3.
la journée lorsqu'elle est éteinte.
4,
durable.
5.
vendeur pour obtenir une nouvelle batterie.
6. Les non-professionnels sont priés de ne pas démonter la lampe.
7.

RoHS (

Veuillez ne pas jeter la batterie avec les ordures ménageéres afin d'éviter toute explosion.

A UK
® caA

PAP

o
L T




DEUX MODES DE TRAVAIL EN OPTION

ON/OFF/Switch Mode éveillé

1. Appuyez une premiére fois sur le bouton, la lampe clignote une fois et passe en mode
capteur.

2. Appuyez une deuxiéme fois sur le bouton, la lampe clignote deux fois et passe en mode
maintien de I'éclairage.

3. Appuyez une troisieme fois sur le bouton, la lampe s'éteint.

Interrupteur d'éclairage CCT
Appuyez sur ce bouton pour modifier la température de couleur.

MODE CAPTEUR

La lampe s'allume automatiquement la nuit, passe automatiquement a 60 % de luminosité lorsqu'un mouvement est
détecté dans un rayon de <8mtrs, puis passe a une luminosité plus faible apres 20 secondes d'absence de
mouvement.

MAINTIEN DU MODE D'ECLAIRAGE

La lampe s'allume automatiquement la nuit et conserve sa pleine luminosité. Aprés 5 heures, elle passe en mode
capteur.

After 5 Hours . : n

LARGE APPLICATION

Utilisation flexible pour la cour, le garage, I'entrep6t, le jardin, le centre de vacances, la ferme, le parc industriel, etc.




INSTALLATION
INSTALLATION D'UNE APPLIQUE MURALE

s N N N ™

= -
£ :
i i § 1|2
4*Fiche d'extension - v
1* lampe 1*Base & Vis & 17 Vis antivol 1* Manuel de
. J J L J U l'utilisateur y,

1.  Percez 4 trous d'un diamétre de 6 mm et d'une profondeur de 45 mm, fixez les chevilles d'expansion
dansles trous, puis verrouillez la base sur le mur a 'aide de vis (M4*40 mm).

2. Appuyez sur le plus gros bouton de la lampe pour I'allumer et sélectionner le mode de travail
souhaité ; appuyez sur le plus petit bouton pour sélectionner la couleur d'éclairage souhaitée.

3. Faites glisser la lampe sur la base.
Serrez la vis antivol (M3*25mm) pour fixer la lampe a la base.

Switch Lighting CCT
ON/OFF/Switch Woke Mode

®
®

®

®

INSTALLATION DE L'ECLAIRAGE DU PILIER

s N [ N N
e _
ol {‘Il . ;
! 1|2
—_—
3*Fiche d'expansion et
1* lampe 1*Base vis 1* Manuel de
_ L J J |'utilisateur




AVANT L'INSTALLATION
VEUILLEZ NOTER QUE LE RADAR (F ) DOIT ETRE ORIENTE VERS LA ZONE A DETECTER.

1. Percez 3 trous d'un diamétre de 8 mm et d'une profondeur de 65 mm, fixez les chevilles d'expansion
dans les trous, puis verrouillez la base avec des vis (M5*55 mm).

2. Appuyez sur le plus gros bouton de la lampe pour I'allumer et sélectionner le mode de travail
souhaité ; appuyez sur le plus petit bouton pour sélectionner la couleur d'éclairage souhaitée.

3. Placer lalampe dans la fente de serrage et la tourner dans le sens des aiguilles d'une montre pour bien la fixer.

Switch Lighting CCT

® @

INSTALLATION D’ UN ECLAIRAGE DE JARDIN

(" 1 1 N 1
, , 3
o -2
—_—
1* Lampe 1*poteau et 1*base 3*vis 1* Manuel de ['utilisateur
N AN AN S J

AVANT L'INSTALLATION
VEUILLEZ NOTER QUE LE RADAR (Z ) DOIT ETRE ORIENTE VERS LA ZONE A DETECTER.

1.  Percez 3 trous d'un diamétre de 8 mm et d'une profondeur de 65 mm, fixez les boulons d'expansion
dans les trous, puis verrouillez la base au sol a I'aide de rondelles plates, de rondelles élastiques et
d'écrous.

2. Appuyez sur le plus gros bouton de la lampe pour I'allumer et sélectionner le mode de travail
souhaité ; appuyez sur le plus petit bouton pour sélectionner la couleur d'éclairage souhaitée.

3. Insérer la lampe dans le poteau dans le bon sens et la fixer avec la vis (M4*8mm).

4. Insérez le poteau (avec la lampe installée) dans la base, puis fixez-le a I'aide de 3 vis (M5*10mm).

" ON/OFF/Switch Woke Mode

\ Switch Lighting CCT




V-TAC

Meaningful Innovation.

WEEE Number: 80133970

GEBRAUCHSANWEISUNG

SOLAR LED WANDLEUCHTE MIT SENSOR

YEAR

WARRANTY"

IP65

ATING

EINFUHRUNG

Vielen Dank, dass Sie ein V-TAC-Produkt ausgewdhlt und gekauft haben. V-TAC wird Ihnen die besten Dienste
leisten. Bitte lesen Sie diese Anleitung sorgfaltig durch, bevor Sie mit der Installation beginnen, und bewahren Sie
diese Anleitung zum spateren Nachschlagen auf. Sollten Sie weitere Fragen haben, wenden Sie sich bitte an
unseren Handler oder an den lokalen Verkdufer, bei dem Sie das Produkt gekauft haben. Sie sind geschult und
bereit, Sie bestmoglich zu bedienen. Die Garantie gilt fir 3 Jahre ab dem Kaufdatum. Die Garantie gilt nicht flir
Schaden, die durch unsachgemaRe Installation oder abnormalen Verschlei verursacht wurden. Das
Unternehmen Ubernimmt keine Garantie flir Schaden an Oberflachen, die durch unsachgemafen Aus- und
Einbau des Produkts entstehen. Die Produkte sind fir einen taglichen Betrieb von 10-12 Stunden geeignet. Bei
einer Nutzung des Produkts Uber 24 Stunden pro Tag erlischt die Garantie. Fiir dieses Produkt wird nur eine
Garantie fur Herstellungsfehler gewahrt.

dass dieses Produkt nicht mit anderen
Haushaltsabfallen entsorgt werden darf.

Diese Kennzeichnung weist darauf hin,
5 Vorsicht, Gefahr eines Stromschlags.

Bei Fragen/Problemen mit dem Produkt wenden Sie sich bitte an uns: support@v-tac.eu. Fur
weitere Produkte kontaktieren Sie bitte unseren Vertriebspartner oder den nachsten Handler.
V-TAC EUROPE LTD. Bulgarien, Plovdiv 4000, bul.L.Karavelow 9B



TECHNISCHE DATEN

MODELL VT-425 / VT-426 / VT-413

SKU 23004 / 23005 / 23006

LUMENS 2200 LM

POWER 15W

LEDs SMD 2835x84 Stuck

MONO-SONNENKOLLEKTOR DC 4,5V, 5,8W

BATTARY PACK 32700, 3.2V, 6000mAh, 19.2Wh

RADAR-SENSOR 120° / 8 Meter

STRAHLENWINKEL 360°

ARBEITSMODEN SENSOR MODE; Beleuchtungsmodus beibehalten

LADEDAUER 7 Stunden starke Sonneneinstrahlung zum vollstandigen Aufladen

BELEUCHTUNGSZEIT Bis zu 80 Stunden

EINBAUHOHE 2-3 Meter

BELEUCHTUNGSBEREICH 80m?

GEHAUSEWERKSTOFF ABS+PC, Anti-UV, Anti-Oxidationsmittel, feuerfest

LAMPENABMESSUNG Wandleuchte 257x288.5x206.5mm
Sadulenleuchte 257x257x217mm
Gartenleuchte 257x257x879.7mm

VERPACKUNG Wandleuchte: 1 x Solarlampe, 1 x Sockel, 4 x Spreizdiibel und Schrauben, 1
x Anti-Diebstahl-Schraube, 1 x Benutzerhandbuch
Saulenleuchte: 1 x Solarlampe, 1 x Sockel, 3 x Spreizdibel & Schrauben, 1 x
Gebrauchsanweisung
Gartenleuchte: 1 x Solarlampe, 1 x Mast, 1 x Sockel, 7 x Schrauben, 1 x
Gebrauchsanweisung

GARANTIE 3 Jahre

WARNUNG

1. Dies ist eine solarbetriebene Lampe, bitte installieren Sie das Solarpanel an einem Ort, an dem
gentgend Sonnenschein vorhanden ist.

2. Bitte beachten Sie, dass die Leuchtdauer von der Sonnenscheindauer und dem Betriebsmodus abhangt.

3. Die Ein/Aus-Taste an der Lampe ist ein Ausschalter, der hilft, Strom zu sparen. Auch die Lampe kann
tagsliber noch Solarladung erhalten, wenn die Lampe ausgeschaltet ist.

4. Eingebauter intelligenter IC ist mit Uberladungs- und Uberentladungsschutz, sicher und langlebig.

5. Die Lampe ist mit einem internen Akkupack ausgestattet, der austauschbar ist. Bei Bedarf wenden Sie
sich bitte an den Verkaufer, um ein neues Akkupaket zu erhalten.

6. Nichtfachleute sollten die Lampe nicht zerlegen.

7. Bitte entsorgen Sie die Batterie nicht im Hausmdill, um eine Explosion zu vermeiden.

RoHS C€ ¢ i UK

par CA




ZWEI OPTIONALE ARBEITSMODI

ON/OFF/Schalter Wake Mode
1. Drucken Sie die Taste zum ersten Mal, die Lampe blinkt einmal und schaltet sich in den
Sensormodus.
2. Drucken Sie die Taste zum zweiten Mal, die Lampe blinkt zweimal und wechselt in den
Beleuchtungsmodus.
3. Driicken Sie die Taste zum 3. Mal, die Lampe schaltet sich aus.

Schalter Beleuchtung CCT

Bitte driicken Sie diese Taste, um die Farbtemperatur zu andern.

SENSOR-MODUS

Die Lampe leuchtet nachts automatisch auf, schaltet automatisch auf 60 % Helligkeit, wenn eine Bewegung im
Umkreis von <8 m erkannt wird, und dimmt dann nach 20 Sekunden ohne Bewegung auf niedrigere Helligkeit.

BELEUCHTUNGSMODUS BEIBEHALTEN

Die Lampe schaltet sich nachts automatisch ein und behilt ihre volle Helligkeit bei, nach 5 Stunden schaltet sie in den
Sensormodus.

After 5 Hours

————

BREITE ANWENDUNG

Flexibel einsetzbar fir Hof, Garage, Lagerhaus, Garten, Ferienanlage, Bauernhof, Industriepark usw.




INSTALLATION

INSTALLATION VON WANDLEUCHTEN

e N N N M
Eddl /
E § E o /
. i :
i i % 1|2
4*Erweiterungsstecker ht
. o & Schraube & 1* Anti- .
1* Lampe 1*Basis Diebstahl-Schraube 1* Benutzerhandbuch
- A J . /
1. Bohren Sie 4 Locher mit einem Durchmesser von o 6mm und einer Tiefe von 45mm, befestigen Sie
die Spreizdubel in den Lochern und befestigen Sie den Sockel mit Schrauben (M4*40mm) an der
Wand.
2. Drucken Sie die groRere Taste an der Lampe, um die Lampe einzuschalten und den gewinschten
Arbeitsmodus auszuwahlen; driicken Sie die kleinere Taste, um die gewlinschte Lichtfarbe
auszuwadhlen.
3. Schieben Sie die Leuchte auf den Sockel.
Ziehen Sie die Anti-Diebstahl-Schraube (M3*25mm) an, um die Lampe am Sockel zu befestigen.
)
Switch Lighting CCT
ON/OFF/Switch Woke Mode
EINBAU VON SAULENLEUCHTEN
e N N ava M
e /
L] /
/
i 1|2
——
3*Erweiterungsstecker
1* Lampe 1*Basis & Schraube 1* Benutzerhandbuch
. VAR L L




VOR DEM EINBAU
BITTE BEACHTEN SIE, DASS DAS RADAR (”:’\\) IN RICHTUNG DES ZU ERFASSENDEN BEREICHS AUSGERICHTET SEIN SOLLTE.

1. Bohren Sie 3 Locher mit einem Durchmesser von o 8mm und einer Tiefe von 65mm, befestigen Sie
die Spreizdubel in den Lochern und fixieren Sie dann den Sockel mit Schrauben (M5*55mm).

2. Driicken Sie die groRere Taste an der Lampe, um die Lampe einzuschalten und den gewiinschten
Arbeitsmodus auszuwahlen; driicken Sie die kleinere Taste, um die gewlinschte Lichtfarbe
auszuwahlen.

3. Setzen Sie die Lampe in den Klemmschlitz und drehen Sie sie im Uhrzeigersinn, um sie gut zu befestigen.

Switch Lighting CCT

® @

INSTALLATION DER GARTENBELEUCHTUNG

' I N N )
, , s | =
- iz
—_—
1* Lampe 1*Stange & 1*Basis 3*Schraube 1* Benutzerhandbuch
- o A AN J

VOR DEM EINBAU
BITTE BEACHTEN SIE, DASS DAS RADAR (”:’\\) IN RICHTUNG DES ZU ERFASSENDEN BEREICHS AUSGERICHTET SEIN SOLLTE.

1. Bohren Sie 3 Lécher mit einem Durchmesser von o 8 mm und einer Tiefe von 65 mm, befestigen Sie die
Spreizbolzen in den Lochern und sichern Sie den Sockel mit Unterlegscheiben, Federringen und Muttern am
Boden.

2. Driicken Sie die gréRere Taste an der Lampe, um die Lampe einzuschalten und den gewiinschten
Arbeitsmodus auszuwdhlen; driicken Sie die kleinere Taste, um die gewlinschte Lichtfarbe auszuwahlen.

3. Stecken Sie die Lampe mit der richtigen Richtung in den Mast und befestigen Sie sie mit einer Schraube (M4*8mm).

4,  Stecken Sie den Mast (mit installierter Lampe) in den Sockel und befestigen Sie ihn mit 3 Schrauben (M5*10mm).

" ON/OFF/Switch Woke Mode

\ Switch Lighting CCT

®
@
@B




V-TAC

Meaningful Innovation.

WEEE Number: 80133970

ErXEIP1AIO OAHITQN

HAIAKO LED ®Q% TO1XOY ME AIZOHTHPA

YEAR

WARRANTY"

IP65

ATING

EIZArQrH

Jag¢ guXapPLOTOUME Tou emAé€ate Kal ayopdooate to mpoiov V-TAC. H V-TAC Ba ocag efumnpetrosl e ToV
KOAUTEPO TPOTO. Mapakalolue SL0PACTE MPOCEKTIKA AUTEC TLG 08NYIeC TPV EEKLVAOETE TNV EYKATACTACN KOl
KPATHOTE AUTO TO eyXelpiblo mPoxelwpo yla peAlovtikr) avadopd. Edav €xete omoiwadnmote GAAn armopia,
TIOPOKOAAOUUE ETIKOWVWVHOTE HE TOV QAVIUTPOOWTIO HAG I TOV TOTIKO TIWANTH Qo TOV ONMolo oyopAcaTE TO
npolov. Eival ekmatdeupévol Kal £TOLUOL va 0a¢ €EUMNPETAHOOUV e Tov KaAUtepo Suvato tpomo. H eyyunon
LoOXUEL yla 3 xpovia amo TNV nUepounvia ayopdc. H eyyunon 6ev LoxVel yla {NULEG Tou Tpokalouvtal amnd
godaApévn eykataoctaon f pn ducoloyiky dBopd. H etalpeio Sev Tapéxel Kapla gyyvunon yla {NULEG o€
onotadnmnote eridpavela Aoyw AavBaopévng adaipeons Kal eyKaTAoTaoNng Tou mpoidvrtog. Ta mpoiovta sival
KatdAAnAa ywa 10-12 wpeg kabnuepvng Asttoupyiag. H xprjon tou mpoidvtog yla 24 wpeg TNV nuéEpa Ba
OKUPWOEL TNV gyyUnon. Autd To tpoiov pépel eyylnon HOVO yLla KOTAOKEUOOTIKA EAQTTWHATA.

TPOLOV AUTO SEV TIPETIEL VAL ATTOPPLTITETAL
pHadl pe dAAa olklakd andfAnta.

H orpavon autr urodelkvueL OTL To
5 Mpoocoxn, kivbuvog nAektpomAnéiag.

Se neplntwon onoloudAMOTE EpWTANATOG/BEUATOG UE TO TIPOLOV, TTOPAKAAOUHE ETMUKOWWVNAOTE Hall pag
oto: support@v-tac.eu. MNa neplocdtepeg MANPodOPILEC OXETIKA LE TN YKAMA TWV TIPOIOVIWY,
TAPOAKAAOULE ETUKOWVWVNAOTE KE TOV SLAVOUEQ MOG 1 TOUG TANCLECTEPOUG OVTLITPOCWIIOUG HLAG.
V-TAC EUROPE LTD. BouAyapia, @uutovnoin 4000, bul.L.Karavelow 9B



TEXNIKA ZTOIXEIA

MONTEAO VT-425 / VT-426 / VT-413
SKU 23004 / 23005 / 23006
LUMENS 2200 LM

POWER 15W

LEDs SMD 2835x84 tepd Lo

MONO HAIAKO MANEA

DC 4.5V, 5.8W

MAKETO MAXHTIKHZ

32700, 3.2V, 6000mAh, 19.2Wh

AIZOHTHPAZ PANTAP

120° / 8 pétpa

TONIA AEZMHZ

360°

MOPQEZ EPFAZIAX

AEITOYPTIA AIZOHTHPA; Atatripnon Asttoupyiag dwTtiopov

XPONOz ®OPTIZHZ 7 WPeG Loxupng nAtodavelag yia mhfipn ¢pdption
QPA OQTIZMOY MéxpL 80 wpeg

'YWO3 ErKATASTASHS 2-3 uétpa

MEPIOXH ®QTIZMOY 80m?

YAIKO NEPIBAHMATOX

ABS + PC, avti-UV, avtlogeldwtiko, mupipaxo

AIAXTAZH AAMITTHPA

Dwg toixou 257x288.5x206.5mm Dwg
TUAwva 257x257x217mm Qwg Kmou
257x257x879.7mm

SYIKEYAZIA DwTLoTKO Toixou: 1 X nAtakog Aaumntipag, 1 x Baon, 4 x Buoparta
enéktaong kot Bideg, 1 x avtkAemtikn Bida, 1 x eyxelpidio xpnong
Dwg nuAwva: 1 x nAtakdg Aapmtipag, 1 x Baon, 3 x Buopata enéktaong
kat Bideg, 1 x eyxelpibio xpnong
Dwg kAmou: 1 x nAtakog Aapmtrpag, 1 x mélog, 1 x Baon, 7 x Bideg, 1 x
eyxelpidio xpriong

EMTYHIH 3 xpovia

MPOEIAONOIHZH

1. AutA eivat pa nAtakn Aauma, mapakaAoUE EYKATAOTAHOTE ToV NALaKO GUANEKTN oE pLa B€on
OTIoU UTtopEL va £XeL apKeTA nAlodavela.

2. AdBete untodn otL o xpdvog dwTlopoL e€aptdatal amo tn Sldpkela TNE NALOPAVELAG KOl TOV TPOTo AELlToupyiag.

3. To kouumni On/Off otn Auxvia gival SLAKOTTNG AMEVEPYOTIOINONG, XPOLLOC VLo TNV EE0LKOVOUNON
KATAVAAWGONG eVEPYELOG. ETtiong, o Aaumtipog punopsl va e€akoAouBei va dpoptiletal amd tnv nALOK
EVEPYELA KATA TN SLAPKELA TNG NUEPOAG, OTAV O AQUTTTIPAC ELVOL ATIEVEPYOTIOLNUEVOC.

4., Evowpatwpévo £EUTVO OAOKANPWHEVO KUKAWMA E TipooTacia and untepdoption Kol utepdoption, aoPaAEg
KOLL AVOEKTLKO.

5. O haumntrpog eival eEomMALOUEVOC UE ECWTEPLKN UmaTapia, n omola unopel va avtikataotabel. 3
TeplMTwon avaykng, MapoKoAOUUE ETILKOWVWVIOTE E TOV TWANTHA VLA TO CWOTO VEO TIOKETO
UrmotapLwy.

6.  OLpun emayyeAQATIEC TapaAKAAOUVTOL VA LNV ATTOCUVAPLOAOYOUV TOV AQUTTTH PO,

7. Mnv metdre Vv pnatoapio pall pe to olkloka anoppippata yia va anodUyeTe TV €kpnén.

RoHS C € ¥ & N




A'YO NPOAIPETIKO1 TPONOI AEITOYPIN'AZ

Asiroupyia apimnviong ON/OFF/Switch

1. Méote to koupni 1n popd, n Auvxvia avaBooPrvel pia popd kat evepyomoleital otn
Aettoupyia atoBntrpa.

2. Natfote to kouuni 2n ¢opd, n Auxvia avaBooBrvel U0 dopeg kat petaBaivel otn
Aewtoupyia Keep Lighting Mode.

3. Natfote to Kouuni 3n dopd, n Auxvia oBrAveL.

AiakonTng wriopou CCT

MatAOTE AUTO TO KOUUTIL yla va aAAAEETE T BepuoKpaoia XpWHATOG.

AEITOYPTIA AIZOHTHPA

O Aaumtripag avafel avutopata T vuxta, yupilel avtopata o pwtewvotnta 60% otav avixveUeTal Kivnon o€
anoéotacn <8mtrs, Kal TN CUVEXELA XAUNAWVEL O XOUNAOTEPN dwTEVOTNTA META oo 20 SeuTEPOAETTA XWPLG
kivnon.

AIATHPHZTE TH AEITOYPI1A ®QTIZMOY

O Aaumtipag avaBel autopata tn vOXTA Kot Statnpetl mAnpn pwTEVOTNTA, HETA ano 5 wpeg uetaPaivel o Aettoupyia
alcbntpa.

After 5 Hours . : n

EYPEIA EOAPMOI'H

Xpnotuomoleital eUEALKTA Yo AUAR, YKapAl, arnoBrkn, KATo, BEpeTpo SLaKOMWY, AypOKTNUA, BLOUNXAVIKO TTAPKO K.ATL.




ErKATAZTAZH

ErKATAXTAZH EMITOIXOY OQTIZMCY

s N N N ™
L
L] /
/
1|2
4*BUopa eméKTaong ™/
1% ANyt 1*Béon 8;\&6“,& 1" Bida 1* Eyxewpldio xpriong
Y JRS PRN QVTLKAETITLKNG T[pOOT(IOL(lQJ k )
1. Tpumnnote 4 onég pe Slapetpo o bmm kal BaBog 45mm, otepewote ta BUCUATA SLACTOANG OTLG OTIEG
KoL otn cuvéxela aodpaliote tn Bdon otov toixo pe Bideg (M4*40mm).
2. MNatAote To PeYaAUTEPO KOUUTL TOU AQUTITI PO YLO VO EVEPYOTIOLHCETE TOV AT PO KOL VA
eméEete TNV eTBuNTA AelToupyia epyaciag- MATAOCTE TO ULKPOTEPO KOUUTTL yLa val ETUAEEETE TO
emBUUNTO XpwHA PWTLOUOL.
3. Upete tov Aauntipa navw otn Baon.
Sdifte v avrikAemtikr Bida (M3*25mm) yLa va 0TEPEWOETE TOV Aaumtrpa otn Baon.
)
Switch Lighting CCT
ON/OFF/Switch Woke Mode
EFKATAZTAZH OQTIZMOY NYAQNQN
s N N N R
s _
. /
1|
/
—_—
3 * Buopa enéktaong &
1*Béon Bisa 1™ Eyxewpidio xpriong
- A o AN _/




MPIN ANTO THN EFKATAZTAZH
ZHMEIQZTE OTI TO PANTAP (’?\) MPENEI NA EINAI ZTPAMMENO MPOZ THN ENIOYMHTH NEPIOXH MPOZ ANIXNEYZH.

1.

Avoifte 3 onég Stapétpou o 8mm kot BaBoug 65mm, otepewote ta BUopATA SLACTOANG OTLC OTIEC

kaL aodaliiote tn Baon pe Bideg (M5*55mm).

MNatAoTE TO HEYOAUTEPO KOUUTL TOU AQUTITAPA YLOL VO EVEPYOTIOL| OETE TOV AT PA KOl VOl

eMAEEETE TNV €MIOUUNTN AElTOUpYLA EPYACLOG- TIATIOTE TO UIKPOTEPO KOUUTTL yLa va eTUAEEETE TO
emBuUNTO XpwHa PWTLOUOL.

TomoBetr|ote Tov Aaumntrpa otnv urtodoxr cVodLEng Kat teplotpéPte tov Seflootpoda yia va otepewOel KaAd.

Switch Lighting CCT

® @

EI'KATAZTAZH ¢QTIZMOY KHNoYy

.

~ N N a
TTOT ~
. -~
8 a2
-~
—_—
1% Aara 1*3t0Mo¢ & 1*Bdon 3*Bida 1 * EyxelpiSlo xpriong
J L o /L _J

MPIN ANTO THN EFKATAZTAZH
ZHMEIQZTE OTI TO PANTAP (’?\) MPENEI NA EINAI ZTPAMMENO MPOZ THN ENIOYMHTH NEPIOX'H NPOZ ANIXNEYZH.

1

Tpumnote 3 omég SLapéTpou 0 8mm Kot BdBoug 65mm, oTtepeWaoTe TIG BLOEC SLAGTOANC OTLG OTIEG KalL, OTN
ouvéxela, aodaliote tn Baon oto £6adog pe eninedeg podéNeg, EAaTnPLWTEG poSEAEG KAl TtagLpadia.

MaTAOTE TO LEYAUAUTEPO KOUUITIL TOU AQLUTITIPAL YL VOL EVEPYOTIOLNOETE TOV AQUTTTHPA KOL VA ETUAEEETE TNV

emBupnTn Aettoupyia €pyaciog- MATHOTE TO ULKPOTEPO KOUUTTL YLa VO ETUAEEETE TO EMLOUUNTO XpWHA

dwtLlopoL.

TomoBeTroTE TOV AQUMTAPA OTOV TOAO UE TN OWOTH KATEVLOUVON Kol OTEPEWOTE ToV pe Bida (MA*8mm).

TomoBeTroTe TOV MOAO (UE TOV EYKATECTNUEVO AQUTTAPA) 0T BACN KA, OTN CUVEXELQ, OTEPEWOTE TOV He 3 Bideg (M5*10mm).

" ON/OFF/Switch Woke Mode

\ Switch Lighting CCT

®
@
@@—(;




V-TAC

Meaningful Innovation.

WEEE Number: 80133970

HASZNALATI UTMUTATO
NAPELEMES LED FALI LAMPA ERZEKELOVEL

YEAR

WARRANTY"

IP65

ATING

BEVEZETES

Készoénjuk, hogy V-TAC terméket vélasztott és vasarolt. A V-TAC a legjobbat fogja nyujtani Onnek.
Kérjlk, olvassa el figyelmesen ezeket az utasitasokat, mielStt elkezdi a telepitést, és tartsa kéznél ezt a
kézikonyvet a kés6bbi haszndlatra. Ha barmilyen mads kérdése van, kérjik, forduljon a keresked6nkhoz
vagy a helyi forgalmazdéhoz, akitél a terméket vasarolta. Ok képzettek és készen allnak arra, hogy a
lehetd legjobban kiszolgaljadk Ont. A garancia a vasarlastdl szdmitott 3 évig érvényes. A garancia nem
vonatkozik a helytelen telepités vagy rendellenes elhaszndlddas okozta karokra. A vallalat nem vallal
garanciat a termék helytelen eltavolitdsa és beszerelése miatt barmely fellleten keletkezett karokra. A
termékek napi 10-12 éras mikodésre alkalmasak. A termék napi 24 6ras haszndlata esetén a garancia
érvényét veszti. A termékre kizardlag gyartasi hibak esetén vallalunk garanciat.

nem szabad mas haztartasi hulladékkal Vigyazat, dramités veszélye.

Ez a jelolés azt jelzi, hogy ezt a terméket
egyltt artalmatlanitani. 5

A termékkel kapcsolatos barmilyen kérdés/probléma esetén kérjik, forduljon hozzank a kévetkezé
cimen: support@v-tac.eu Tovabbi termékvalasztékért, érdeklédésért kérjuk, forduljon
forgalmazénkhoz vagy legkézelebbi kereskedsinkhez.

V-TAC EUROPE LTD. Bulgaria, Plovdiv 4000, bul.L.Karavelow 9B


mailto:support@v-tac.eu

TECHNIKAI ADATOK

MODELL VT-425 /VT-426 / VT-413

SKU 23004 / 23005 / 23006

LUMENS 2200 LM

POWER 15W

LED-ek SMD 2835x84 db

MONO NAPELEM DC 4.5V, 5.8W

BATTARY PACK 32700, 3.2V, 6000mAh, 19.2Wh
RADAR-ERZEKELG 120° / 8 méter

SUGAR SZOGE 360°

MUNKAMODOK SENSOR MODE; Tartsa a vilagitdsi modot
FELTOLTES IDEJE 7 6ra er8s napsltés a teljes feltéltéshez
VILAGITASI IDG Legfeljebb 80 6ra

BEEPITESI MAGASSAG 2-3 méter

FENYES TERULET 80m?

BURKOLAT ANYAGA ABS + PC, Anti-UV, Anti-oxidans, t(izallg, t(izallo

LAMPA MERETE

Fali lampa 257x288.5x206.5mm
Oszlopfény 257x257x217mm Kerti
lampa 257x257x879.7mm

CSOMAGOLAS Fali ldmpa: 1 x napelemes lampa, 1 x bazis, 4 x bévité dugdk és
csavarok, 1 x lopasgatlé csavar, 1 x felhasznaldi kézikonyv.
Oszloplampa: 1 x napelemes lampa, 1 x bazis, 3 x bévité dugdk és
csavarok, 1 x felhasznaloi kézikonyv
Kerti lampa: 1 x napelemes lampa, 1 x pdlus, 1 x alap, 7 x
csavarok, 1 x hasznalati utasitas

GARANCIA 3év

FIGYELMEZTETES

1. Ez egy napelemes lampa, kérjik, hogy a napelemet olyan helyre telepitse, ahol

elegendG napsutés éri.

2. Kérjluk, vegye figyelembe, hogy a vilagitasi id6 a napsités id6tartamatdl és a munkamaédtdl flgg.

3. Alampan lévé be/ki gomb a kikapcsolé gomb, amely segit az energiafogyasztas
megtakaritasdban. A ldmpa napkdzben is kaphat napelemes toltést, amikor a [dmpa ki van

kapcsolva.

4. A beépitett intelligens IC tultoltés és tulkislilés elleni védelemmel rendelkezik, biztonsagos és tartds.
5. Aldampa bels6 akkumulatorral van felszerelve, amely cserélhet6. Ha barmilyen szikség van ra,

kérjuk, Iépjen kapcsolatba az eladdval a megfelel Uj akkumulatorcsomagért.
6. Nem szakemberek ne szereljék szét a lampat.

7. Kérjuk, a robbanas elkeriilése érdekében ne dobja ki az akkumulatort a haztartdsi szemétbe.

RoHS C €

2 4 A%

@
R & 2R




KET VALASZTHATO MUNKAMOD

ON/OFF/Kapcsolé ébrenléti iizemmod

1. Nyomja meg a gombot 1. alkalommal, a lampa egyszer felvillan és bekapcsol az
érzékeld tzemmodba.

2. Nyomja meg a gombot 2. alkalommal, a ldmpa kétszer villog, és atvalt a Keep
Lighting Mode (Fenntartas) Gzemmaddba.

3. Nyomja meg a gombot 3. alkalommal, a [dmpa kikapcsol.

Kapcsolo6 vilagitas CCT

Kérjiik, nyomja meg ezt a gombot a szinhémérséklet valtdsahoz.

ERZEKELO UZEMMOD

A lampa éjszaka automatikusan vilagit, automatikusan 60%-os fényerére kapcsol, ha mozgast észlel a <8
méteres tartomanyban, majd 20 masodperc mozgds nélkiil 20 masodperc utan alacsonyabb fényerdre

gyengdil.

VILAGITASI MOD FENNTARTASA

A lampa éjszaka automatikusan vilagit, és teljes fényerGvel vilagit, 5 dra elteltével érzékel6 Gzemmaddba
kapcsol.

After 5 Hours
———

SZELESKORU ALKALMAZAS

Rugalmasan hasznalhatd udvar, garazs, raktar, kert, tdilShely, farm, ipari park stb. szamara.




BEALLITAS

FALI LAMPA FELSZERELESE

' N N N R
/
[] 5
1l|=
4*Tagulasi dugo d
1* lampa 1*Bazis & csavar & 1" lopasgatls 1 * Felhasznaldi kézikonyv
csavar
. J J J »,
1. Furjon 4 db 0 6 mm atmérgjd és 45 mm mély lyukat, rogzitse a tagulasi dugdkat a lyukakba,
majd rogzitse az alapot a falhoz csavarokkal (M4*40 mm).
2. Nyomja meg a ldmpa nagyobbik gombjat a ldmpa bekapcsoldsahoz és a kivant
munkamad kivalasztasdahoz; nyomja meg a kisebbik gombot a kivant vilagitasi szin
kivalasztasahoz.
3. Csusztassa a lampat a talpra.
Hlzza meg a lopasgatlo csavart (M3*25mm), hogy a lampat a talphoz rogzitse.
)
Switch Lighting CCT
ON/OFF/Switch Woke Mode
' N N N R
’ ~
-
il g 2 i -~
: . X -
—_—
3 * bévité dugé és
1* [dampa 1*Bazis csavar 1 * Felhasznaldi kézikonyv
\ J J L J D,




A TELEPITES ELOTT
KERJUK, VEGYE FIGYELEMBE, HOGY A RADARNAK (Z ) A KiVANT TERULET FELE KELL MUTATNIA.

1. Fdrjon 3 lyukat 0 8 mm atmérdével és 65 mm mélységgel, rogzitse a taguldsi dugokat a
lyukakba, majd rogzitse az alapot csavarokkal (M5*55 mm).

2. Nyomja meg a lampa nagyobbik gombjat a lampa bekapcsolasahoz és a kivant
munkamad kivalasztasdhoz; nyomja meg a kisebbik gombot a kivant vilagitasi szin
kivdlasztasahoz.

3. Helyezze a lampat a szoritdnyilasba, és az dramutatd jarasaval megegyez6 iranyba forgatva rogzitse jol.

Switch Lighting CCT

® @

KERTI VILAGITAS TELEPITESE

N N R
. -~
1 1
- P
—_—
1* lampa 1*Pole & 1*Base 3*csavar 1 * Felhasznaldi kézikonyv
. A AN A J

A TELEPIiTES ELOTT
KERJUK, VEGYE FIGYELEMBE, HOGY A RADARNAK (7 ) A KiVANT TERULET FELE KELL MUTATNIA.

1. Fdrjon 3 lyukat o 8 mm atmérGvel és 65 mm mélységgel, rogzitse a taguldsi csavarokat a lyukakba,
majd rogzitse az alapot a talajhoz lapos aldtétekkel, rugds alatétekkel és anydkkal.

2. Nyomja meg a ldmpa nagyobbik gombjat a lampa bekapcsoldsahoz és a kivant munkamaod
kivalasztasahoz; nyomja meg a kisebbik gombot a kivant vilagitasi szin kivadlasztdsahoz.

3. Helyezze a ldmpat a pdlusba a megfelel§ iranyba, és rogzitse a csavarral (M4*8mm).

4, Helyezze a pdlust (aldmpaval egyltt) a talpba, majd rogzitse 3 csavarral (M5*¥10mm).

" ON/OFF/Switch Woke Mode

\ Switch Lighting CCT

®
@l
® @&




V-TAC

Meaningful Innovation.

WEEE Number: 80133970

MANUALE DI ISTRUZIONI

APPLIQUE A LED SOLARE CON SENSORE

YEAR

WARRANTY"

IP65

ATING

INTRODUZIONE

Grazie per aver scelto e acquistato un prodotto V-TAC. V-TAC vi servira al meglio. Prima di iniziare
I'installazione, leggere attentamente le presenti istruzioni e conservare il manuale per future
consultazioni. Per qualsiasi altra domanda, contattare il nostro rivenditore o il venditore locale presso
il quale & stato acquistato il prodotto. Sono addestrati e pronti a servirvi al meglio. La garanzia & valida
per 3 anni dalla data di acquisto. La garanzia non si applica ai danni causati da un'installazione non
corretta o da un'usura anomala. L'azienda non fornisce alcuna garanzia contro i danni a qualsiasi
superficie dovuti a un'errata rimozione e installazione del prodotto. | prodotti sono adatti per un
funzionamento di 10-12 ore al giorno. L'utilizzo del prodotto per 24 ore al giorno invalida la garanzia.
Questo prodotto & garantito solo per i difetti di fabbricazione.

Questo marchio indica che questo
prodotto non deve essere smaltito con 5 Attenzione, rischio di scosse elettriche.
altri rifiuti domestici. \

]

Per qualsiasi domanda o problema relativo al prodotto, contattateci all'indirizzo:
support@v-tac.eu. Per ulteriori informazioni sulla gamma di prodotti, contattate il
nostro distributore o i rivenditori piu vicini.

V-TAC EUROPE LTD. Bulgaria, Plovdiv 4000, bul.L.Karavelow 9B



DATI TECNICI

MODELLO VT-425 / VT-426 / VT-413

SKU 23004 / 23005 / 23006

LUMENS 2200 LM

POTENZA 15w

LED SMD 2835x84 pezzi

PANNELLO SOLARE MONO 4,5V CC, 5,8 W

PACCHETTO BATTARIO 32700, 3,2V, 6000mAh, 19,2Wh

SENSORE RADAR

120° / 8 metri

ANGOLO DEL RAGGIO

360°

MODALITA DI LAVORO

MODALITA SENSORE; mantenere la modalita di illuminazione

TEMPO DI CARICA

7 ore di luce solare intensa per una ricarica completa

TEMPO DI ILLUMINAZIONE

Fino a 80 ore

ALTEZZA DI INSTALLAZIONE

2-3 metri

AREA DI ILLUMINAZIONE

80m?

MATERIALE DELL'ALLOGGIAMENTO

ABS+PC, Anti-UV, Anti-Ossidante, Antincendio

DIMENSIONE DELLA LAMPADA

Lampada da parete
257x288,5x206,5 mm Lampada a
colonna 257x257x217 mm
Lampada da giardino
257x257x879,7 mm

IMBALLAGGIO Lampada da parete: 1 x lampada solare, 1 x base, 4 x tasselli e viti
di espansione, 1 x vite antifurto, 1 x manuale utente
Lampada a colonna: 1 x lampada solare, 1 x base, 3 x tasselli e viti
di espansione, 1 x manuale d'uso.
Luce da giardino: 1 lampada solare, 1 asta, 1 base, 7 viti, 1
manuale d'uso.

GARANZIA 3 anni

ATTENZIONE

1. Questalampada e alimentata a energia solare; si prega di installare il pannello solare in
una posizione che possa ricevere abbastanza sole.

2. Il tempo diilluminazione dipende dalla durata del sole e dalla modalita di funzionamento.

3. Il pulsante On/Off della lampada & un interruttore di spegnimento, utile per risparmiare il

consumo di energia. Inoltre, la lampada puo ancora ricevere la carica solare quando & spenta.
4. L'ICintelligente incorporato € dotato di protezione da sovraccarico e sovra-scarico, sicura e duratura.

5. Lalampada e dotata di una batteria interna sostituibile. In caso di necessita, contattare il
venditore per ottenere un nuovo pacco batteria corretto.

6. | non professionisti sono pregati di non smontare la lampada.

7. Non smaltire la batteria con i rifiuti domestici per evitare esplosioni.

RoHS (

oY /2} UK
L P cA




DUE MODALITA DI LAVORO OPZIONALI
Modalita ON/OFF/Switch Woke

1. Premere il pulsante una prima volta, la lampada lampeggia una volta e si attiva la
modalita sensore.

2. Premendo il pulsante per la seconda volta, la lampada lampeggia due volte e
passa alla modalita di illuminazione continua.

3. Premendo il pulsante per la terza volta, la lampada si spegne.

Interruttore llluminazione CCT
Premere questo pulsante per modificare la temperatura del colore.

MODO SENSORE

La lampada si accende automaticamente di notte, passa automaticamente al 60% di luminosita quando
viene rilevato un movimento nel raggio di <8 metri, quindi si abbassa a una luminosita inferiore dopo 20
secondi di assenza di movimento.

MANTENERE LA MODALITA DI ILLUMINAZIONE

La lampada si accende automaticamente di notte e mantiene la massima luminosita, dopo 5 ore passa alla
modalita sensore.

After 5 Hours
———

AMPIA APPLICAZIONE

Utilizzabile in modo flessibile per cortile, garage, magazzino, giardino, villaggio turistico, fattoria, parco
industriale, ecc.




INSTALLAZIONE
INSTALLAZIONE DELLA LUCE A PARETE

( N N N [ )
/
[] 5
1|=
4*Spina di espansione d
1* Lampada 1*Base Vite & 17 Vite antifurto 1* Manuale d'uso
. A AN S /

1. Praticare 4 fori con un diametro di o 6 mm e una profondita di 45 mm, fissare i tasselli a
espansione nei fori, quindi bloccare la base alla parete con viti (M4*40 mm).

2. Premere il pulsante piu grande sulla lampada per accenderla e selezionare la modalita di
lavoro desiderata; premere il pulsante piu piccolo per selezionare il colore di
illuminazione desiderato.

3. Farscorrere la lampada sulla base.

Serrare la vite antifurto (M3*25 mm) per fissare la lampada alla base.

Switch Lighting CCT
ON/OFF/Switch Woke Mode

® O

INSTALLAZIONE DELLE LUCI SUL MONTANTE

e N N N
- & &

3*Spina di espansione ¢
1* Lampada 1"Base vite 1* Manuale d'uso
- VAR /A o

M\




PRIMA DELL'INSTALLAZIONE
S| PREGA DI NOTARE CHE IL RADAR (,?\ ) DEVE ESSERE RIVOLTO VERSO L'AREA DESIDERATA DA RILEVARE.

1. Praticare 3 fori con un diametro di 0 8 mm e una profondita di 65 mm, fissare i tasselli a espansione
nei fori, quindi bloccare la base con viti (M5*55 mm).

2.  Premere il pulsante piu grande sulla lampada per accenderla e selezionare la modalita di lavoro
desiderata; premere il pulsante piu piccolo per selezionare il colore di illuminazione desiderato.

3. Inserire la lampada nella fessura di fissaggio e ruotarla in senso orario per fissarla bene.

Switch Lighting CCT

® @

INSTALLAZIONE DI LUCI DA GIARDINO

) N
, ' S
é iz
—_—
1* Lampada 1*Palo e 1"Base 3*Vite 1* Manuale d'uso

- A AN AN

PRIMA DELL'INSTALLAZIONE
SI1 PREGA DI NOTARE CHE IL RADAR (’?\) DEVE ESSERE RIVOLTO VERSO L'AREA DESIDERATA DA RILEVARE.

1. Praticare 3 fori con un diametro di 0 8 mm e una profondita di 65 mm, fissare i tasselli a espansione
nei fori, quindi bloccare la base a terra con rondelle piatte, rondelle elastiche e dadi.

2.  Premere il pulsante pili grande sulla lampada per accenderla e selezionare la modalita di lavoro
desiderata; premere il pulsante piu piccolo per selezionare il colore di illuminazione desiderato.

3. Inserire la lampada nel palo nella giusta direzione e fissarla con una vite (M4*8 mm).
Inserire |'asta (con la lampada installata) nella base e fissarla con 3 viti (M5*10 mm).

h i

@&

" ON/OFF/Switch Woke Mode

\ Switch Lighting CCT




V-TAC

Meaningful Innovation.

WEEE Number: 80133970

INSTRUKCJA OBSLUGI

KINKIET SOLARNY LED Z CZUJNIKIEM

YEAR

WARRANTY"

IP65

ATING

WPROWADZENIE

Dziekujemy za wybranie i zakup produktu V-TAC. V-TAC bedzie stuzyt jak najlepiej. Przed rozpoczeciem instalacji
nalezy uwaznie przeczyta¢ niniejszg instrukcje i zachowaé jg do wykorzystania w przysztosci. W przypadku
jakichkolwiek innych pytan prosimy o kontakt z naszym dealerem lub lokalnym sprzedawcg, od ktérego
zakupiono produkt. Sg oni przeszkoleni i gotowi do swiadczenia ustug na najwyzszym poziomie. Gwarancja jest
wazna przez 3 lata od daty zakupu. Gwarancja nie obejmuje uszkodzen spowodowanych nieprawidtowg instalacja
lub nadmiernym zuzyciem. Firma nie udziela gwarancji na uszkodzenia powierzchni spowodowane
nieprawidtowym demontazem i montazem produktu. Produkty sg odpowiednie do pracy przez 10-12 godzin

dziennie. Uzywanie produktu przez 24 godziny na dobe spowoduje utrate gwarancji. Ten produkt jest objety
gwarancjg wytacznie na wady produkcyjne.

To oznaczenie wskazuje, ze tego produktu

nie nalezy wyrzucaé razem z innymi Uwaga, ryzyko porazenia pradem.
odpadami domowymi.

W przypadku jakichkolwiek pytar/probleméw z produktem, prosimy o kontakt pod adresem:
support@v-tac.eu Aby uzyskac wiecej produktéw, prosimy o kontakt z naszym dystrybutorem lub
najblizszymi dealerami.

V-TAC EUROPE LTD. Butgaria, Plovdiv 4000, bul.L.Karavelow 9B


mailto:support@v-tac.eu

DANE TECHNICZNE

MODEL VT-425 / VT-426 / VT-413

SKU 23004 / 23005 / 23006

LUMENY 2200 LM

MOC 15W

Diody LED SMD 2835x84 szt.

PANEL StONECZNY MONO DC4,5V,58W

PAKIET BOJOWY 32700, 3.2V, 6000mAh, 19.2Wh

CZUJNIK RADAROWY

120° / 8 metréw

KAT WIAZKI 360°
TRYBY PRACY TRYB CZUJNIKA; Tryb podtrzymania oswietlenia
CZAS tADOWANIA 7 godzin silnego nastonecznienia do petnego natadowania
CZAS SWIECENIA Do 80 godzin
WYSOKOSC INSTALACJI 2-3 metry
OBSZAR OSWIETLENIA 80m?
MATERIAt OBUDOWY ABS+PC, anty-UV, antyutleniacz, ognioodporny
WYMIAR LAMPY Lampa $cienna 257x288.5x206.5mm
Lampa stupkowa 257x257x217mm
Lampa ogrodowa 257x257x879.7mm
PAKOWANIE Kinkiet: 1 x lampa solarna, 1 x podstawa, 4 x kotki rozporowe i $ruby, 1 x
Sruba antykradziezowa, 1 x instrukcja obstugi
Lampa solarna: 1 x lampa solarna, 1 x podstawa, 3 x kotki rozporowe i
Sruby, 1 x instrukcja obstugi
Lampa ogrodowa: 1 x lampa solarna, 1 x stup, 1 x podstawa, 7 x $ruby,
1 x instrukcja obstugi
GWARANCJA 3 lata

OSTRZEZENIE

1. Jest to lampa zasilana energig stoneczng, nalezy zainstalowac¢ panel stoneczny w miejscu, w

RoHS (

ktérym moze by¢ wystarczajgco nastonecznionym.

Czas Swiecenia zalezy od czasu nastonecznienia i trybu pracy.

Przycisk wtgczania/wytgczania na lampie jest wytgcznikiem zasilania, pomocnym w oszczedzaniu
energii. Ponadto lampa moze nadal pobieraé energie stoneczng w ciggu dnia, gdy jest wytgczona.
Whbudowany inteligentny uktad scalony z zabezpieczeniem przed przetadowaniem i nadmiernym
roztadowaniem, bezpieczny i trwaty.

Lampa jest wyposazona w wewnetrzny akumulator, ktéry mozna wymienié. W razie potrzeby
skontaktuj sie ze sprzedawcgy, aby uzyskaé nowy zestaw baterii.

Osoby niebedgace profesjonalistami nie powinny demontowac lampy.

Aby unikng¢ eksplozji, nie nalezy wyrzuca¢ baterii do $mieci domowych.

A"
&\ UK

2 /
'. " PAP C ﬂ




DWA OPCJONALNE TRYBY PRACY

Wiaczanie/wylaczanie/przelaczanie trybu czuwania

1. Nacisnij przycisk po raz pierwszy, lampka mignie raz i wiaczy sie tryb czujnika.

2. Nacisnij przycisk po raz drugi, lampa mignie dwukrotnie i przejdzie w tryb podtrzymania
oswietlenia.

3. Naci$niecie przycisku po raz trzeci spowoduje wytgczenie lampy.

Przelacznik oswietlenia CCT
Nacisnij ten przycisk, aby zmieni¢ temperature barwowa.

TRYB CZUJNIKA

Lampa automatycznie zapala sie w nocy, automatycznie zmienia jasnos$¢ na 60% po wykryciu ruchu w zasiegu <8
metréw, a nastepnie Sciemnia sie do nizszej jasnosci po 20 sekundach braku ruchu.

TRYB PODTRZYMANIA OSWIETLENIA

Lampa automatycznie zapala sie w nocy i utrzymuje petng jasnosé, a po 5 godzinach przetgcza sie w tryb czujnika.

After 5 Hours . : n

SZEROKIE ZASTOSOWANIE

Elastyczne zastosowanie na podwadrku, w garazu, magazynie, ogrodzie, osrodku wypoczynkowym, gospodarstwie
rolnym, parku przemystowym itp.




INSTALACJA

INSTALACJA OSWIETLENIA SCIENNEGO

e N N N M
-~
i :
i i % 1|2
4*Wtyczka rozszerzajaca v/
1* Lampa 1*Pods asr:ltjbk?'a:;ziérzbwaa 1* Instrukcja obstugi
N J L J y : J L J
1. Wywier¢ 4 otwory o srednicy 6 mm i gtebokosci 45 mm, zamocuj kotki rozporowe w otworach, a
nastepnie zablokuj podstawe na $cianie za pomocg Srub (M4 * 40 mm).
2. Nacisnij wiekszy przycisk na lampie, aby wtgczy¢ lampe i wybraé zgdany tryb pracy; nacisnij
mniejszy przycisk, aby wybrac¢ zgdany kolor oswietlenia.
3. Wsun lampe na podstawe.
Dokrec Srube zabezpieczajgcy przed kradziezg (M3*25 mm), aby przymocowac lampe do podstawy.
)
Switch Lighting CCT
ON/OFF/Switch Woke Mode
INSTALACJA OSWIETLENIA SLUPKA
s N ([ N [ N N
s ,
ol {‘Il . ;
! 1|2
o —
3* Wtyczka rozszerzajaca i
1* Lampa 1*Pods $ruba 1* Instrukcja obstugi
- /o A JoC /




PRZED INSTALACJA
NALEZY PAMIETAC, ZE RADAR( = ) POWINIEN BYC SKIEROWANY W STRONE ZADANEGO OBSZARU, KTORY MA BYC WYKRYWANY.

1. Wywierc¢ 3 otwory o srednicy 8 mm i gtebokosci 65 mm, zamocuj kotki rozporowe w otworach, a
nastepnie zablokuj podstawe za pomocg $rub (M5*55 mm).

2. Nacis$nij wiekszy przycisk na lampie, aby wtgczyé lampe i wybraé zgdany tryb pracy; nacisnij
mniejszy przycisk, aby wybrac zgdany kolor oswietlenia.

3. Umie$é lampe w gniezdzie zaciskowym i obré¢ jg zgodnie z ruchem wskazéwek zegara, aby dobrze zamocowad.

Switch Lighting CCT

® @

INSTALACJA OSWIETLENIA OGRODOWEGO

'a 1 N 1
, , 3
o -2
——
1* Lampa 1*Stupek i 1*Podstawa 3*Sruba 1* Instrukcja obstugi
N AN AN S J

PRZED INSTALACJA

NALEZY PAMIETAC, ZE RADAR( 9

) POWINIEN BYC SKIEROWANY W STRONE ZADANEGO OBSZARU, KTORY MA BYC WYKRYWANY.
1.  Wywierci¢ 3 otwory o srednicy o 8 mm i gtebokosci 65 mm, zamocowa¢ kotki rozporowe w
otworach, a nastepnie zablokowa¢ podstawe na podtozu za pomoca ptaskich podktadek, podktadek
sprezystych i nakretek.
2. Nacisnij wiekszy przycisk na lampie, aby wtaczy¢ lampe i wybraé zadany tryb pracy; nacis$nij
mniejszy przycisk, aby wybrac zgdany kolor oswietlenia.
3. Wtéz lampe do stupa we wiasciwym kierunku i zamocuj jg za pomoca sruby (M4*8mm).
4, Wtoz stupek (z zainstalowang lampg) do podstawy, a nastepnie przymocuj go za pomocg 3 $rub (M5*10mm).

" ON/OFF/Switch Woke Mode

\ Switch Lighting CCT




V-TAC

Meaningful Innovation.

WEEE Number: 80133970

MANUAL DE INSTRUCOES

CANDEEIRO DE PAREDE LED SOLAR COM SENSOR

YEAR

WARRANTY"

IP65

RATING

INTRODUCAO

Obrigado por selecionar e comprar o produto V-TAC. A V-TAC ird servi-lo da melhor forma. Por favor, leia
atentamente estas instrugGes antes de iniciar a instalagdo e mantenha este manual a mao para referéncia futura.
Se tiver qualquer outra duvida, contacte o nosso revendedor ou o vendedor local a quem adquiriu o produto.
Eles tém formacdo e estdo prontos para o servir da melhor forma. A garantia é vdlida por 3 anos a partir da data
de compra. A garantia ndo se aplica a danos causados por instalacdo incorrecta ou desgaste anormal. A empresa
ndo da qualquer garantia contra danos em qualquer superficie devido a remocgdo e instalagdo incorrectas do
produto. Os produtos sdo adequados para um funcionamento didrio de 10-12 horas. A utilizacdo do produto
durante 24 horas por dia anularia a garantia. Este produto tem garantia apenas para defeitos de fabrico.

deve ser eliminado juntamente com outros
residuos domésticos.

Esta marcagdo indica que este produto ndao
5 Cuidado, risco de choque elétrico.

Em caso de duvidas ou problemas com o produto, contacte-nos em: support@v-tac.eu Para mais informacgdes
sobre a gama de produtos, contacte o nosso distribuidor ou os revendedores mais préximos.
V-TAC EUROPE LTD. Bulgaria, Plovdiv 4000, bul.L.Karavelow 9B


mailto:support@v-tac.eu

DADOS TECNICOS

MODELO VT-425 / VT-426 / VT-413

SKU 23004 / 23005 / 23006

LUMENS 2200 LM

PODER 15W

LEDs SMD 2835x84 pcs

PAINEL SOLAR MONO DC 4,5V, 5,8W

PACOTE DE BATALHA 32700, 3,2V, 6000mAh, 19,2Wh
SENSOR DE RADAR 120° / 8 metros

ANGULO DO FEIXE

360°

MODOS DE TRABALHO

MODO SENSOR; Manter o modo de iluminagdo

TEMPO DE CARREGAMENTO

7 horas de sol forte para carregar completamente

TEMPO DE ILUMINAGAO

Até 80 horas

ALTURA DE INSTALAGAO

2-3 Metros

ZONA DE ILUMINAGAO

80m?

MATERIAL DA CAIXA

ABS+PC, anti-UV, anti-oxidante, a prova de fogo

DIMENSAO DA LAMPADA

Luz de parede 257x288.5x206.5mm Luz
de pilar 257x257x217mm Luz de jardim
257x257x879.7mm

EMBALAGEM Luz de parede: 1 x lampada solar, 1 x base, 4 x fichas de expansdo e
parafusos, 1 x parafuso antirroubo, 1 x manual do utilizador
Luz de pilar: 1 x lampada solar, 1 x base, 3 x fichas de expansdo e
parafusos, 1 x manual do utilizador
Luz de jardim: 1 x Lampada solar, 1 x Poste, 1 x Base, 7 x Parafusos, 1 x
Manual do utilizador

GARANTIA 3 anos

AVISO

1. Estalampada é alimentada por energia solar, por favor instale o painel solar num local onde

possa apanhar sol suficiente.
2. Otempo deiluminagdo depende da duragdo da luz solar e do modo de funcionamento.
3. O bot3o de ligar/desligar da lampada é um interrutor de desligar, util para poupar o consumo de
energia. Além disso, a lampada pode continuar a receber carga solar durante o dia quando a lampada
estd desligada.
4. O ICinteligente incorporado possui protecdo contra sobrecarga e descarga excessiva, segura e duradoura.
5. Alampada estd equipada com uma bateria interna, que é substituivel. Em caso de necessidade,
contactar o vendedor para obter uma nova bateria correta.
6. Os ndo profissionais ndo devem desmontar o candeeiro.
7. N3&o deitar a pilha no lixo doméstico para evitar uma explosao.

A"
2 UK

L2 4
RoHS C€ =g S o)




DOIS MODOS DE FUNCIONAMENTO OPCIONAIS

Ligar/desligar/interrutor Modo de vigilia

1. Prima o botdo pela primeira vez, a lampada pisca uma vez e passa para o Modo de Sensor.

2. Prima o botdo pela segunda vez, a lampada pisca duas vezes e passa para o modo de manter
a iluminagdo.

3. Premir o botdo pela terceira vez, a lampada desliga-se.

Interruptor de iluminagao CCT
Prima este botdo para mudar a temperatura da cor.

MODO SENSOR

A lampada acende-se automaticamente a noite, passa automaticamente para 60% de luminosidade quando é
detectado movimento no raio de agdao <8 mtrs e, em seguida, diminui para uma luminosidade inferior apés 20
segundos sem movimento.

MANTER O MODO DE ILUMINAGAO

A lampada acende-se automaticamente a noite e mantém o brilho total, apds 5 horas passa para o modo de sensor.

After 5 Hours

—eeeeeee

AMPLA APLICACAO

Utilizado de forma flexivel para patio, garagem, armazém, jardim, estancia de férias, quinta, parque industrial, etc.




INSTALACAO

INSTALACAO DE CANDEEIROS DE PAREDE

-

N N N ™y
Eddl /
# i - /
. i :
i i % 1|2
4*Tampao de expansdo v/
1* Lampada 1*Base & Parafusq & 1" Parafuso 1* Manual do utilizador
antirroubo
AN AN (. /
1. Faga 4 furos com um didmetro de 6 mm e uma profundidade de 45 mm, fixe as buchas de expansdo
nos furos e, em seguida, fixe a base na parede com parafusos (M4*40 mm).
2. Prima o botdo maior da lampada para a ligar e selecionar o modo de trabalho pretendido; prima o
bot3do mais pequeno para selecionar a cor de iluminagao pretendida.
3. Deslize a lampada para a base.
Aperte o parafuso antirroubo (M3*25mm) para fixar a lampada a base.
)
Switch Lighting CCT
ON/OFF/Switch Woke Mode
INSTALACAO DE LUZES DE PILAR
e N ([ N [ N R
L
r N
! 1|2
——
3*Tampio de expansio
1* Lampada 1*Base e parafuso 1* Manual do utilizador
- /o A JoC




ANTES DA INSTALAGCAO

O RADAR (7 ) DEVE ESTAR VIRADO PARA A AREA A SER DETECTADA.

1. Faca 3 furos com um didmetro de 8 mm e uma profundidade de 65 mm, fixe os tampdes de
expansdo nos furos e, em seguida, fixe a base com parafusos (M5*55 mm).
2. Prima o bot3do maior da ldmpada para a ligar e selecionar o modo de trabalho pretendido; prima o
botdo mais pequeno para selecionar a cor de iluminacao pretendida.
3. Coloque a lampada na ranhura de fixacdo e rode-a no sentido dos ponteiros do relégio para a fixar bem.

®

INSTALA(}AO DE LUZES DE JARDIM

@

Switch Lighting CCT

.

N ':
, , N
] —
——
1* Lampada 1*Polo e 1*Base 3*Parafuso 1* Manual do utilizador
AN AN -

ANTES DA INSTALAGAO

O RADAR (4’?\ ) DEVE ESTAR VIRADO PARA A AREA A SER DETECTADA.
1

Faga 3 furos com um didametro de o 8mm e uma profundidade de 65mm, fixe os parafusos de

expansado nos furos e, em seguida, fixe a base no chdo com anilhas planas, anilhas de mola e porcas.

botdo mais pequeno para selecionar a cor de iluminagao pretendida.

" ON/OFF/Switch Woke Mode

\ Switch Lighting CCT

Insira a lampada no poste na dire¢do certa e fixe-a com o parafuso (M4*8mm).
Insira o poste (com a lampada instalada) na base e, em seguida, fixe-o com 3 parafusos (M5*10mm).

B

Prima o botdo maior da lampada para a ligar e selecionar o modo de trabalho pretendido; prima o




V-TAC

Meaningful Innovation.

WEEE Number: 80133970

MANUAL DE INSTRUCTIUNI

SOLARE A CONDUS LUMINA DE PERETE CU SENZOR

YEAR

WARRANTY"

IP65

RATING

INTRODUCERE

Va multumim pentru selectarea si cumpararea produsului V-TAC. V-TAC va va oferi cele mai bune servicii. Va
rugam sa cititi cu atentie aceste instructiuni inainte de a incepe instalarea si sa pastrati acest manual la indemana
pentru consultare ulterioara. Daca aveti orice alta intrebare, va rugam sa contactati distribuitorul nostru sau
vanzatorul local de la care ati achizitionat produsul. Acestia sunt instruiti si pregatiti sa va serveasca la cel mai
bun nivel. Garantia este valabila timp de 3 ani de la data achizitiei. Garantia nu se aplica daunelor cauzate de
instalarea incorectd sau de uzura anormala. Compania nu ofera nicio garantie Tmpotriva deteriorarii oricarei
suprafete din cauza indepartarii si instalarii incorecte a produsului. Produsele sunt potrivite pentru o functionare
de 10-12 Ore pe zi. Utilizarea produsului timp de 24 de ore pe zi ar anula garantia. Acest produs este garantat
numai pentru defectele de fabricatie.

nu trebuie eliminat impreuna cu alte
deseuri menajere.

Acest marcaj indica faptul ca acest produs
5 Atentie, risc de electrocutare.

in cazul oricérei intrebari/probleme legate de produs, vd rugdm s ne contactati la: support@v-tac.eu
Pentru o gama mai larga de produse, va rugam sa contactati distribuitorul nostru sau cei mai
apropiati dealeri.
V-TAC EUROPE LTD. Bulgaria, Plovdiv 4000, bul.L.Karavelow 9B


mailto:support@v-tac.eu

DATE TEHNICE

MODEL VT-425 / VT-426 / VT-413

SKU 23004 / 23005 / 23006

LUMENI 2200 LM

PUTEREA 15w

LED-uri SMD 2835x84 buc

PANOU SOLAR MONO DC 4.5V, 5.8W

PACHET DE LUPTA 32700, 3.2V, 6000mAh, 19.2Wh

SENSOR RADAR 120° / 8 metri

UNGHIUL FASCICULULUI 360°

MODURI DE LUCRU MOD SENSOR; Mentineti modul de iluminare

TIMP DE INCARCARE 7 ore de soare puternic pentru incarcare completa

TIMP DE ILUMINARE Pana la 80 de ore

INALTIMEA DE INSTALARE 2-3 metri

ZONA DE ILUMINARE 80m?*

MATERIAL CARCASA ABS + PC, Anti-UV, Anti-Oxidant, ignifug

DIMENSIUNE LAMPA Lumina de perete 257x288.5x206.5mm
Lumina de stalp 257x257x217mm
Lumina de gradind 257x257x879.7mm

AMBALARE Lumina de perete: 1 x lampa solard, 1 x bazd, 4 x fise de expansiune si
suruburi, 1 x surub antifurt, 1 x manual de utilizare
Pillar Light: 1 x lampa solard, 1 x baza, 3 x fise de expansiune si suruburi, 1 x
manual de utilizare
Lumina de gradina: 1 x lampa solard, 1 x stalp, 1 x bazd, 7 x suruburi, 1
x manual de utilizare

GARANTIE 3 ani

AVERTISMENT

1. Aceasta este o lampa alimentata cu energie solara, va rugam sa instalati panoul solar intr-o
locatie in care poate primi suficienta lumina solara.
2. Varugam sa retineti ca timpul de iluminare depinde de durata de stralucire a soarelui si de modul de lucru.
3. Butonul On/Off de pe lampa este comutator de oprire, util pentru a economisi consumul de energie. De
asemenea, lampa se poate incarca in continuare cu energie solara in timpul zilei, cand lampa este
oprita.
4. ICinteligent incorporat este cu protectie la supraincarcare si supradescarcare, sigur si durabil.
5. Lampa este echipata cu un pachet de baterii interne, care este inlocuibil. Daca aveti nevoie, va rugam sa
contactati vanzatorul pentru un pachet de baterii nou corect.

6. Neprofesionistii sunt rugati sd nu dezasambleze lampa.
7. Varugam sa nu aruncati bateria cu gunoiul menajer pentru a evita exploziile.

L2 4 N
RoHS C€ % = ch




DOUA MODURI DE LUCRU OPTIONALE

Pornit/Oprit/Comutator Mod trezit

1. Apasati butonul a 1-a oara, lampa clipeste o data si porneste in modul senzor.

2. Apasati butonul a doua oard, lampa clipeste de doua ori si trece la modul de iluminare
continua.

3. Apasati butonul a 3-a oara, lampa se stinge.

Comutator de iluminat CCT
Va rugam sa apasati acest buton pentru a schimba temperatura culorii.

MOD SENSOR

Lampa se aprinde automat pe timp de noapte, trece automat la o luminozitate de 60% atunci cand este detectata o
miscare in intervalul <8mtrs, apoi se reduce la o luminozitate mai mica dupa 20 de secunde fara miscare.

PASTRATI MODUL DE ILUMINARE

Lampa se aprinde automat noaptea si mentine luminozitatea maxima, dupa 5 ore trece in modul senzor.

After 5 Hours . : n

APLICARE LARGA

Flexibil utilizat pentru curte, garaj, depozit, gradina, statiune de vacanta, ferma, parc industrial etc.




INSTALARE

INSTALAREA LUMINII DE PERETE

e N N N M
e
- /
f .
| 1|
4 * Expansiune Plug ht
1* lampa 1*Baza surub &1 % surub antifurt 1* Manual de utilizare
|\ AN AN oG /
1. Faceti 4 gauri cu un diametru de o 6mm si 0 addncime de 45mm, fixati dopurile de expansiune in
gauri, apoi fixati baza pe perete cu suruburi (M4*40mm).
2. Apasati butonul mai mare de pe lampa pentru a aprinde lampa si a selecta modul de lucru dorit;
apasati butonul mai mic pentru a selecta culoarea de iluminare dorita.
3. Glisati lampa pe baza.
Strangeti surubul antifurt (M3*25mm) pentru a fixa lampa la baza.
)
Switch Lighting CCT
ON/OFF/Switch Woke Mode
INSTALAREA LUMINII PE STALP
e N ([ N [ N R
L
r N
! 1|2
——
3 * Expansiune Plug &
1* lampa 1"Baza surub 1* Manual de utilizare
- /o A JoC /




iNAINTE DE INSTALARE
VA RUGAM SA RETINETI CA RADARUL (7 ) TREBUIE INDREPTAT SPRE ZONA DORITA PENTRU A FI

DETECTATA.

1.

Faceti 3 gauri cu un diametru de o 8mm si o adancime de 65mm, fixati dopurile de expansiune in
gauri, apoi blocati baza cu suruburi (M5*55mm).

Apasati butonul mai mare de pe lampa pentru a aprinde lampa si a selecta modul de lucru dorit;
apasati butonul mai mic pentru a selecta culoarea de iluminare dorita.

Puneti lampa in fanta de prindere si rotiti-o in sensul acelor de ceasornic pentru a o fixa bine.

™~ ON/OFF/Switch Woke Mode

Switch Lighting CCT

INSTALARE LUMINA DE GRADINA

4 N (7 N N I
, , i
@ -z
g
1* lampa 1*Pol & 1 *Baza 3 * surub 1* Manual de utilizare
. J L o /L _J

iNAINTE DE INSTALARE
VA RUGAM SA RETINETI CA RADARUL (Z ) TREBUIE iINDREPTAT SPRE ZONA DORITA PENTRU A FI

DETECTATA.

1. Faceti 3 gduri cu un diametru de o 8mm si o adancime de 65mm, fixati suruburile de expansiune in
gauri, apoi fixati baza pe sol cu saibe plate, saibe elastice si piulite.

2. Apasati butonul mai mare de pe lampa pentru a aprinde lampa si a selecta modul de lucru dorit;
apasati butonul mai mic pentru a selecta culoarea de iluminare dorita.

3. Introduceti lampa in stalp cu directia corecta si fixati-o cu surubul (M4*8mm).

4

Introduceti polul (cu lampa instalata) in baza, apoi fixati-I cu 3 suruburi (M5*10mm).

. Switch Lighting CCT




V-TAC

Meaningful Innovation.

WEEE Number: 80133970

MANUAL DE INSTRUCCIONES

APLIQUE SOLAR LED CON SENSOR

YEAR

WARRANTY"

|P65
ATING

INTRODUCCION

Gracias por seleccionar y comprar un producto V-TAC. V-TAC le servird lo mejor posible. Lea atentamente estas
instrucciones antes de comenzar la instalaciéon y conserve este manual a mano para futuras consultas. Si tiene
cualquier otra duda, pdngase en contacto con nuestro distribuidor o vendedor local al que haya comprado el
producto. Estan formados y preparados para atenderle lo mejor posible. La garantia es vdlida durante 3 afos a
partir de la fecha de compra. La garantia no se aplica a los dafos causados por una instalacion incorrecta o un
desgaste anormal. La empresa no ofrece ninguna garantia contra dafos en cualquier superficie debidos a una
incorrecta retirada e instalacion del producto. Los productos son adecuados para un funcionamiento de 10-12
Horas diarias. El uso del producto durante 24 horas al dia anularia la garantia. Este producto esta garantizado
Unicamente por defectos de fabricacion.

debe eliminarse con otros residuos
domeésticos.

Esta marca indica que este producto no
5 Precaucidn, riesgo de descarga eléctrica.

En caso de cualquier duda o problema con el producto, péngase en contacto con nosotros en:
support@v-tac.eu Para més informacién sobre la gama de productos, péongase en contacto con
nuestro distribuidor o concesionario mas cercano.

V-TAC EUROPE LTD. Bulgaria, Plovdiv 4000, bul.L.Karavelow 9B


mailto:support@v-tac.eu

DATOS TECNICOS

MODELO VT-425 / VT-426 / VT-413

SKU 23004 / 23005 / 23006

LUMENS 2200 LM

POTENCIA 15W

LEDs SMD 2835x84 unidades

PANEL SOLAR MONO cC4,5V,58W

PAQUETE BATTARY 32700, 3,2V, 6000mAh, 19,2Wh
SENSOR RADAR 120° / 8 metros

ANGULO DEL HAZ

360°

MODOS DE TRABAJO

MODO SENSOR; Mantener Modo lluminacién

TIEMPO DE CARGA

7 horas de sol intenso para cargarse por completo

TIEMPO DE ILUMINACION

Hasta 80 horas

ALTURA DE INSTALACION

2-3 metros

AREA DE ILUMINACION

80m?

MATERIAL DE LA CARCASA

ABS+PC, Anti-UV, Anti-Oxidante, Ignifugo

DIMENSION DE LA LAMPARA

Luz de pared 257x288.5x206.5mm Luz
de pilar 257x257x217mm Luz de jardin
257x257x879.7mm

EMBALAJE

Aplique: 1 x Ldmpara Solar, 1 x Base, 4 x Tapones y Tornillos de Expansion,
1 x Tornillo Antirrobo, 1 x Manual de Usuario

Luz de Pilar: 1 x Ldmpara Solar, 1 x Base, 3 x Tapones de Expansiény
Tornillos, 1 x Manual de Usuario

Luz de Jardin: 1 x Ldmpara Solar, 1 x Poste, 1 x Base, 7 x Tornillos, 1 x

Manual de Usuario

GARANTIA

3 afios

ADVERTENCIA

1. Esta es unaldampara que funciona con energia solar, por favor instale el panel solar en un lugar
donde pueda recibir suficiente luz solar.
2. Tenga en cuenta que el tiempo de iluminacién depende de la duracidén de la luz solar y del modo de

funcionamiento.

3. El botén de encendido/apagado de la ldmpara es un interruptor de apagado que ayuda a ahorrar
energia. Adema3s, la ldmpara puede seguir recibiendo energia solar durante el dia cuando estd apagada.

4. ICinteligente incorporado con proteccidén contra sobrecarga y sobredescarga, seguro y duradero.

5. Laladmpara esta equipada con una bateria interna, que es reemplazable. Si cualquier necesidad, por
favor péngase en contacto con el vendedor para el nuevo paquete de baterias correcta.

6. Los no profesionales no deben desmontar lalampara.

7. No tire la pila a la basura doméstica para evitar explosiones.

RoHS (

r > UK
LT = CA




DOS MODOS DE TRABAJO OPCIONALES

Modo ON/OFF/Switch Woke

1. Pulse el botdn por primera vez, la lampara parpadea una vez y se activa el modo sensor.

2. Pulse el botdn por segunda vez, la lampara parpadeara dos veces y pasard al modo de
iluminacién permanente.

3. Pulse el botén 32 vez, la ldmpara se apaga.

Interruptor lluminacion CCT
Pulse este botdn para cambiar la temperatura de color.

MODO SENSOR

La lampara se enciende automaticamente por la noche, pasa automaticamente a 60% de brillo cuando se detecta
movimiento en el rango <8mtrs, luego se atenla a menor brillo después de 20 segundos sin movimiento.

A A

MANTENER EL MODO DE ILUMINACION

La ldmpara se enciende automaticamente por la noche y mantiene todo su brillo, después de 5 horas pasa al Modo
Sensor.

After 5 Hours
—_—

AMPLIA APLICACION

Uso flexible para patio, garaje, almacén, jardin, centro de vacaciones, granja, parque industrial, etc.




INSTALACION

INSTALACION DE APLIQUES

e N N N M
Ed b g
. | /
. i :
i i % 1=
4*Enchufe de expansion v/
1* Lampara 1*Base & Tornillo .& 1" Tornillo 1* Manual del usuario
antirrobo
|\ AN AN (. /
1. Taladre 4 orificios de 6 mm de didametro y 45 mm de profundidad, fije los tacos de expansidn en los
orificios y, a continuaciodn, fije la base a la pared con tornillos (M4*40 mm).
2. Pulse el botén mas grande de la ldmpara para encenderla y seleccionar el modo de trabajo
deseado; pulse el botén mas pequefio para seleccionar el color de iluminacién deseado.
3. Deslice la lampara sobre la base.
Apriete el tornillo antirrobo (M3*25mm) para fijar la lampara a la base.
)
Switch Lighting CCT
ON/OFF/Switch Woke Mode
INSTALACION DE LA LUZ DE MONTANTE
e N ([ N [ N R
L
r N
! 1|2
——
3*Tapon de expansion vy
1* Lémpara 1*Base tornillo 1* Manual del usuario
- /o A JoC /




ANTES DE LA INSTALACION
TENGA EN CUENTA QUE EL RADAR (= ) DEBE ORIENTARSE HACIA LA ZONA DESEADA A DETECTAR.

1. Taladre 3 orificios con un didmetro de o 8 mm y una profundidad de 65 mm, fije los tacos de
expansion en los orificios y, a continuacidn, fije la base con tornillos (M5*55 mm).

2. Pulse el botén mas grande de la [dmpara para encenderla y seleccionar el modo de trabajo
deseado; pulse el botdn mas pequefio para seleccionar el color de iluminaciéon deseado.

3. Coloque la ldmpara en la ranura de sujecién y girela en el sentido de las agujas del reloj para fijarla bien.

he ™. ON/OFF/Switch Woke Mode

Switch Lighting CCT

® @

INSTALACION DE LUCES DE JARDIN

(" N N 1
, , N
] —
—_—
1* Ldmpara 1*Poste y 1*Base 3*Tornillo 1* Manual del usuario
- AN AN AN J

ANTES DE LA INSTALACION
TENGA EN CUENTA QUE EL RADAR (4’?\ ) DEBE ORIENTARSE HACIA LA ZONA DESEADA A DETECTAR.

1. Taladre 3 orificios con un didmetro de 0 8 mm y una profundidad de 65 mm, fije los pernos de
expansion en los orificios y, a continuacidn, fije la base al suelo con arandelas planas, arandelas
elasticas y tuercas.

2. Pulse el botdn mas grande de la ldmpara para encenderla y seleccionar el modo de trabajo
deseado; pulse el botdn mas pequefio para seleccionar el color de iluminaciéon deseado.

3. Inserte la lampara en el poste en la direccién correcta y fijela con un tornillo (M4*8mm).

4. Inserte el poste (con la lampara instalada) en la base y fijelo con 3 tornillos (M5*10mm).

" ON/OFF/Switch Woke Mode

\ Switch Lighting CCT




	СЛЪНЧЕВА LED СВЕТЛИНА ЗА СТЕНА СЪС СЕНЗОР
	ТЕХНИЧЕСКИ ДАННИ
	ДВА ДОПЪЛНИТЕЛНИ РЕЖИМА НА РАБОТА
	Режим на събуждане ON/OFF/Switch
	Превключване на осветлението CCT

	РЕЖИМ НА СЕНЗОРА
	ЗАПАЗВАНЕ НА РЕЖИМА НА ОСВЕТЛЕНИЕ
	ШИРОКО ПРИЛОЖЕНИЕ
	ИНСТАЛИРАНЕ
	ИНСТАЛИРАНЕ НА СВЕТЛИНИТЕ НА КОЛОНАТА
	МОНТАЖ НА ГРАДИНСКО ОСВЕТЛЕНИЕ
	SOLÁRNÍ LED NÁSTĚNNÉ SVĚTLO SE SENZOREM
	TECHNICKÉ ÚDAJE
	DVA VOLITELNÉ PRACOVNÍ REŽIMY
	Režim ON/OFF/Switch Woke
	Přepínač osvětlení CCT

	REŽIM SENZORU
	UDRŽOVAT REŽIM OSVĚTLENÍ
	ŠIROKÉ UPLATNĚNÍ
	INSTALACE
	INSTALACE SVĚTELNÉHO SLOUPKU
	INSTALACE ZAHRADNÍHO OSVĚTLENÍ
	APPLIQUE SOLAIRE À LED AVEC CAPTEUR
	DONNÉES TECHNIQUES
	DEUX MODES DE TRAVAIL EN OPTION
	ON/OFF/Switch Mode éveillé
	Interrupteur d'éclairage CCT

	MODE CAPTEUR
	MAINTIEN DU MODE D'ÉCLAIRAGE
	LARGE APPLICATION
	INSTALLATION
	INSTALLATION DE L'ÉCLAIRAGE DU PILIER
	INSTALLATION D'UN ÉCLAIRAGE DE JARDIN
	SOLAR LED WANDLEUCHTE MIT SENSOR
	TECHNISCHE DATEN
	ZWEI OPTIONALE ARBEITSMODI
	ON/OFF/Schalter Wake Mode
	Schalter Beleuchtung CCT

	SENSOR-MODUS
	BELEUCHTUNGSMODUS BEIBEHALTEN
	BREITE ANWENDUNG
	INSTALLATION
	EINBAU VON SÄULENLEUCHTEN
	INSTALLATION DER GARTENBELEUCHTUNG
	ΗΛΙΑΚΌ LED ΦΩΣ ΤΟΊΧΟΥ ΜΕ ΑΙΣΘΗΤΉΡΑ
	ΤΕΧΝΙΚΑ ΣΤΟΙΧΕΙΑ
	ΔΎΟ ΠΡΟΑΙΡΕΤΙΚΟΊ ΤΡΌΠΟΙ ΛΕΙΤΟΥΡΓΊΑΣ
	Λειτουργία αφύπνισης ON/OFF/Switch
	Διακόπτης φωτισμού CCT

	ΛΕΙΤΟΥΡΓΙΑ ΑΙΣΘΗΤΗΡΑ
	ΔΙΑΤΗΡΉΣΤΕ ΤΗ ΛΕΙΤΟΥΡΓΊΑ ΦΩΤΙΣΜΟΎ
	ΕΥΡΕΊΑ ΕΦΑΡΜΟΓΉ
	ΕΓΚΑΤΑΣΤΑΣΗ
	ΕΓΚΑΤΆΣΤΑΣΗ ΦΩΤΙΣΜΟΎ ΠΥΛΏΝΩΝ
	ΕΓΚΑΤΆΣΤΑΣΗ ΦΩΤΙΣΜΟΎ ΚΉΠΟΥ
	NAPELEMES LED FALI LÁMPA ÉRZÉKELŐVEL
	TECHNIKAI ADATOK
	KÉT VÁLASZTHATÓ MUNKAMÓD
	ON/OFF/Kapcsoló ébrenléti üzemmód
	Kapcsoló világítás CCT

	ÉRZÉKELŐ ÜZEMMÓD
	VILÁGÍTÁSI MÓD FENNTARTÁSA
	SZÉLESKÖRŰ ALKALMAZÁS
	BEÁLLÍTÁS
	OSZLOPVILÁGÍTÁS FELSZERELÉSE
	KERTI VILÁGÍTÁS TELEPÍTÉSE
	APPLIQUE A LED SOLARE CON SENSORE
	DATI TECNICI
	DUE MODALITÀ DI LAVORO OPZIONALI
	Modalità ON/OFF/Switch Woke
	Interruttore Illuminazione CCT

	MODO SENSORE
	MANTENERE LA MODALITÀ DI ILLUMINAZIONE
	AMPIA APPLICAZIONE
	INSTALLAZIONE
	INSTALLAZIONE DELLE LUCI SUL MONTANTE
	INSTALLAZIONE DI LUCI DA GIARDINO
	KINKIET SOLARNY LED Z CZUJNIKIEM
	DANE TECHNICZNE
	DWA OPCJONALNE TRYBY PRACY
	Włączanie/wyłączanie/przełączanie trybu czuwania
	Przełącznik oświetlenia CCT

	TRYB CZUJNIKA
	TRYB PODTRZYMANIA OŚWIETLENIA
	SZEROKIE ZASTOSOWANIE
	INSTALACJA
	INSTALACJA OŚWIETLENIA SŁUPKA
	INSTALACJA OŚWIETLENIA OGRODOWEGO
	CANDEEIRO DE PAREDE LED SOLAR COM SENSOR
	DADOS TÉCNICOS
	DOIS MODOS DE FUNCIONAMENTO OPCIONAIS
	Ligar/desligar/interrutor Modo de vigília
	Interruptor de iluminação CCT

	MODO SENSOR
	MANTER O MODO DE ILUMINAÇÃO
	AMPLA APLICAÇÃO
	INSTALAÇÃO
	INSTALAÇÃO DE LUZES DE PILAR
	INSTALAÇÃO DE LUZES DE JARDIM
	SOLARE A CONDUS LUMINA DE PERETE CU SENZOR
	DATE TEHNICE
	DOUĂ MODURI DE LUCRU OPȚIONALE
	Pornit/Oprit/Comutator Mod trezit
	Comutator de iluminat CCT

	MOD SENSOR
	PĂSTRAȚI MODUL DE ILUMINARE
	APLICARE LARGĂ
	INSTALARE
	INSTALAREA LUMINII PE STÂLP
	INSTALARE LUMINĂ DE GRĂDINĂ
	APLIQUE SOLAR LED CON SENSOR
	DATOS TÉCNICOS
	DOS MODOS DE TRABAJO OPCIONALES
	Modo ON/OFF/Switch Woke
	Interruptor Iluminación CCT

	MODO SENSOR
	MANTENER EL MODO DE ILUMINACIÓN
	AMPLIA APLICACIÓN
	INSTALACIÓN
	INSTALACIÓN DE LA LUZ DE MONTANTE
	INSTALACIÓN DE LUCES DE JARDÍN



